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CEEEL BRI RE P R R B TP e

o= bl

/ Project / New Project / Program

22 FE oA S ZEE HA E AYYth

Program Projectl;
{$mode objfpc}{$H+}
uses
{$IFDEF UNIX}S$IFDEF UseCThreads}
cthreads,
{$ENDIF }{$ENDIF }
Classes
{you can add units after this};

{$IFDEF WINDOWS}{$R projectl.rc}{SENDIF}
begin
end.

<l WFo A File / Save

s =
first.lpiS} 22 o] 2 AT 4

]

2 o] Z2IWS AFT 5 Jdon, oo i
A~
AHE

Y.

25 begingt end T2 Abolo] o] $5& AT 5 YgUTh

Writeln(‘This is Free Pascal and Lazarus’);
Writeln(‘Press enter key to close’);
Readln;

AR 2x TEE LT 22 AT

Program Projectl;
{$mode objfpc}{$H+}
uses
{$IFDEF UNIX}{$IFDEF UseCThreads}
cthreads,
{$ENDIF } {SENDIF }
Classes
{you can add units after this};

{SIFDEF WINDOWS}{$R projectl.rc}{SENDIF}
begin
Writeln(‘This is Free Pascal and Lazarus’);
Writeln(‘Press enter key to close’);
Readln;
end.
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Writeln 22 B2 EE A58 (24 Z) o AU Readln +&#-2 04?4%_'—01
22 OHS @7 H8 dEE F27] A7MA] AR} oo e EAS g
EE 9oj5olE AL A3ysta gAFE 2 IDEZ AT YL

oAl Z2 WL APy A FIE FEAY S HES EFYTH
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A Z2IWe Y, 0 £Y HaE

This is Free Pascal and Lazarus
Press enter key to close

P2 485 gkl 2203 deAbeelA (st B s A g
2 9 Aola, Ao fintoes EAL Hdg A @ AU =
e o e AR B oW FEE uiE AR 4 gtk 4% s e e
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Environment / Options / Debugger

Debugger type and patholl 4] (none)< A &gk}
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1.2 X o2 oA
SEETE R PR

Writeln(‘This is Free Pascal and Lazarus’);

3t 2ol B E YT

Writeln(‘This is a number:’, 15);
o AT F9718 w8 z2ads Ay
o E2 t=9 234E HA 2 Adyn
This is a number: 15

ol RAER 25 th53} 2ol v R, A7 zhe] - o

:orl_l;
[k
Fu
I
i)
o
>

L.

Writeln(‘This is a number:’, 3 4 2);

=g

This is a number: 5

A=Y

Writeln(‘5 * 2 = 7, 5 * 2);

)

=

=9

5*2=10



FE:

Writeln(‘This is real number:’, 7.2);

e
£

This is real number: 7.2000000000000E-+0000

L.

Writeln(‘One, Two, Three:’, 1, 2, 3);

iy
i)

One, Two, Three: 123

AL

Writeln( 10, ¥, 3,=) 10 * 3);

13

g o e d3E =
7 a2 & A
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Tee WeE 45T gk oA YT
Program FirstVar;
{$mode objfpc}{$SH+}

uses
{$IFDEF UNIX}{S$IFDEF UseCThreads}
cthreads,
{$ENDIF }{$ENDIF }
Classes

{SIFDEF WINDOWS}{$R projectl.rc}{SENDIF}
var

x: Integer; begin

X:= 9;

Writeln(x * 2);

Writeln(‘Press enter key to close’);

Readln;



@58 W% xol 4L Au

kg oACIA My R E kU o

var

X, y: Integer;
begin

x:= 5;

y:= 10;

Writeln(x * y);
Writeln(‘Press enter key to close’);
Readln;

end.

Ao 2o e 292

50
Press enter key to close

502 4] (x*y)o] AU Th

= AAE F30 charactersh= M2 tlolH d2 27t

var
c: Char;

begin
Writeln(‘My first letter is :°; c);
Writeln(‘Press enter key to close’);
Readln;

end.

Ut
TS Ao AlE B BRS Y 2 9l el 22} FL 47
var
x: Single;
begin
x:= 1.8;

Writeln(‘My car engine capacity is ', x, ‘liters’);
Writeln(‘Press enter key to close’);
Readln;

end.
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L3t =2 WL AAFHE AFRAREEE 88 o=
LA E S0, AFE A A Tx}e dEagetar 833k, Readln +-
¥/ 22AAE B9 ALAY QP RE 225 AL £ s

var
x: Integer;

begin
Write(‘Please input any number’);
Readln(x);
Writeln(‘You have entered: ’, x);
Writeln(‘Press enter key to close’);
Readln;

end.

of Al M=, Z2IHANA A hS Lolsole Al 7|HE=EE Faf Xl
He S US

ot A AN = AHEAZE AH T ol e FARE B

Program MultTable;
{$mode objfpc}{$SH+}

uses
{$IFDEF UNIX}{S$IFDEF UseCThreads}
cthreads,
{SENDIF}{$ENDIF}
Classes

var
x: Integer;

begin
Write(‘Please input any number:’);
Readln(x);
Writeln(x," * 1 ="’
Writeln(x," * 2 =
Writeln(x," * 3 —
Writeln(x," * 4 —
Writeln(x," * 5 =
Writeln(x," * 6 =’

(%,
(
(
(
(
(
Writeln(x," * 7 =
(
(
(
(
(x
(‘P

[

9

R I I I
- O U s W N~

Writeln(x," * 8 —
Writeln(x," * 9 —
Writeln(x,* * 10 ,X
Writeln(x," * 11 =’
Writeln(x," * 12 = 2);
Writeln(‘Press enter key to close’);
Readln;

end.

¥ X X X X X K ¥ X
0/¢] T

* %
&
et e N N N N N e N e
= =5 >
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Fuz o] oAl A AL wx() Atolol] e EE H2Exs € A=
T+

atjE HolZuth o2 SW 1S3 24U

4>(<1 I

15

ge oAl AL £ 2AS(x y)ol o
AT AWA A5 (Res)ol 9 AT

var
x, y: Integer;
Res: Single;

begin
Write(‘input a number:’);
Readln(x);
Write(‘input another number:’);
Readln(y);
Res:=x / y;
Writeln(x,*/",y,'=",Res);
Writeln(‘Press enter key to close’);
Readln;
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1.4 39 B
Ho th3f| o 2 71A] 3H9] P4l o] EAet=t], & A, A4 A 519 F 4
2 o] B m R ol FhE A=t a3 HlolE fo Aol & FAL 5 U Th
o2 2ol A o, g WY, 282 W2 23k ntolE =7} dFYth
3 AE% R IREEY,
Byte 0 255 1
ShortInt -128 127 1
Smalllnt -32768 32767 2
Word 0 65535 2
Integer -2147483648 2147483647 4
LongInt -2147483648 2147483647 4
Cardinal 0 4294967295 4
Int64 -9223372036854780000 | 9223372036854775807 | 8

ofel A2} o], Low, High 18]l SizeOf & ARE3lo], 74749 F+S=2
HE Az zbe] shgl @A e H &, gt vkelE 2718 7S 5 sy

Program Types;

{$mode objfpc}{$H+}

uses
{SIFDEF UNIX}{$IFDEF UseCThreads}
cthreads,
{$ENDIF}{$ENDIF}
Classes
begin
Writeln(‘Byte: Size = ’, SizeOf(Byte),
‘, Mininum value = ’, Low(Byte), ‘Maximum value = 7,
High(Byte));
Writeln(‘Integer: Size = ’, SizeOf(Integer),
‘, Mininum value = ’, Low(Integer), ‘Maximum value = 7,
High(Integer));
Write(‘Press enter key to close’);
Readln;

end.
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oA ZA(AFEHY 220 s AA 9} &2 A)solAl glo] M $8F
A % st A7) e gl ds) T8 Aske Atk ol A2 g 2715
ol s AT = AFYh A& 5] o AV £ 5 40Km/h 28 2 Ee
Thar AT o] 399 AHle vt Zsuth

if Speed is >= 40 and doors are unlocked, then lock door.

A5 3k A7), Tel 3 e SRS AR S vho| 22 A= S} ARMAS 4
e a7le TR ANAY 2220 s 28 AU A olele e
TFxo et BB C, me] kA AR Z2aPow FAT S dL U

sheagh ojel A if AL L vle ks BT ofe) o & B, el
[e] s

o et ool 22 BA WA sl 245w A Tk

var
Temp: Single;
begin

Write(‘Please enter Temperature of this room :’);
Readln(Temp);

if Temp > 22 then

Writeln(‘Please turn on air-condition’);
else

Writeln(‘Please turn off air-condition’);

Write(‘Press enter key to close’);

Readln;
end.

if then else 73 oo Ht AL /WS UT 2571 228t 39, A=
2Ae RolFUc

‘Please turn on air-condition’
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=7

o

Rl X o (225 AAY 2od), o £ 2ot

‘Please turn off air-condition’

ol 2] Al thall vt 2] AT + Syt

var
Temp: Single;
begin

Write(‘Please enter Temperature of this room :’);
Readln(Temp);

if Temp > 22 then

Writeln(‘Please turn on air-condition’);
else
if Temp < 18 then

Writeln(‘Please turn off air-condition’);
else

Writeln(‘Do nothing’);

Write(‘Press enter key to close’);

Readln;
end.

438 1Y) 93 e 2% GO 9 AAE A B & dgueh
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var
Temp: Single;
ACIsOn: Byte;
begin

Write(‘Please enter Temperature of this room :’);
Readln(Temp);

Write(‘Is air conditioner on? if it is (On) write 1,’,
“if it is (Off) write 0 : 7);

Readln(ACIsOn);

if (ACIsOn = 1) and ( Temp > 22 ) then
Writeln(‘Do nothing, we still need cooling’)
else
if (ACIsOn = 1) and ( Temp < 18 ) then
Writeln(‘Please turn off air-conditioner’)
else
if (ACIsOn = 0) and ( Temp < 18 ) then
Writeln(‘Do nothing, it is still cold’)
else
if (ACIsOn = 0) and ( Temp > 22 ) then
Writeln(‘Please turn on air-conditioner’)
else
Writeln(‘Please enter a valid values’);

Write(‘Press enter key to close’);
Readln;
end.

A AAANA, A AR AAE] 7} Trues == 2] 2 (ACIsOn = 1), FHA JE) 7} True
£ &4 wf(Temp > 22), Writeln 72 A3t v 2L 719 E(and)E
&

AgEUTH S 2 F %o Bl 7} Falseehd, else REO 2 AT AYuth

g Sof, dolzg Ned TES 55 AR AFAYctw, Neld TE =
EAA/AEZIES o] §3te] 2P oo]EL AT T 5 JHUth o] F¢
dlojze] dupi} @ RE ok AT YA g 2L if AR B £} Ax}
e ik wef 38 AZHElE Sof 1N7HS 273k I LE ok 47 glo|
Aol 2 & 7ok T APtk Eot W] AL nET 5 g, () HYAE

2~
=2 =2 T
SE7h Ul methd, o ATEL T 5 92 ATk

o) AL 3 A§A 718 vE BAE 4 W, BRAL 22 BA2 4
Yetn 23T AUtk 1 o 228 48R A ol mhek A el
AYS BRAS ANE Aolx, ARE FeiF AUk
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Program Weight;
{$mode objfpc}{$H+}

uses
{$IFDEF UNIX}{$IFDEF UseCThreads}
cthreads,
{$ENDIF }{$ENDIF}
Classes

var
Height: Double;
Weight: Double;
IdealWeight: Double;

begin
Write(‘What is your height in meters (e.g. 1.8 meter) : ’);
Readln(Height);
Write(‘What is your weight in kilos : ’);
Readln(Weight);

if Height >= 1.4 then
IdealWeight:= (Height - 1) * 100
else
IdealWeight:= Height * 20;
if (Height < 0.4) or ( Height > 2.5) or ( Weight < 3) or
(Weight > 200) then
begin
Writeln(‘Invalid values’);
Writeln(‘Please enter proper values’);
end
else
if IdealWeight = Weight then
Writeln(‘Your weight is suitable’)
else
if IdealWeight > Weight then
Writeln(‘You are under weight, you need more ’,
Format(‘%.2f", [IdealWeight - Weight]), ‘ Kilos’)
else
Writeln(‘You are over weight, you need to lose 7,
Format(‘%.2f", [Weight - IdealWeight]), ‘ Kilos’);
Write(‘Press enter key to close’);
Readln;
end.

of AAIANA M2 7IHE=EE AHEASF YT

olo] 7] =



1.8 AEA Z23d 23

1. Double : Singlex} AUt € t} A4 A9 Double2 v & ul_l,:_ B 5\_%
Zolu, Single 2 4u}o]E Q] W R
W22 F7ko] 8 Tt

2. FHAZ 2L AL 7|9E(Or)olH, 225 F stUHE Ust=A 2s7]
A8 AR UTH 2S5 F stUE wUETHE, TES AT AYdth o
E SoRASULE AAA 2 A0 TrueS J=H T (Height < 0.4), Writeln

e 322 AYYTE

Writeln(‘Invalid values’);. AR Z 7 0] FalseE S EHIH FHA 242
AALE Aol ™ 1/]'”1}]-4 A= vz A Ut 2ok R E 2 A 0| FalseE
=T, else B0 2 AT AUt

3. if AR begin end 7| YESE AFL 3 o] f= if FEo] 3t TES A
H317] W EYUTE begin endE o] 7He] FEES shte] BE(TR)o=
Qe AoR A FY, AN FEES i TR o 49E 5 9%
Utk g ¥ ol PR HES g

Writeln(‘Invalid values’);
Writeln(‘Please enter proper values’);

o] begin endE ARESFo] shite] FEO = M lE U

if (Height < 0.4) or ( Height > 2.5) or ( Weight < 3) or
(Weight > 20 ) then

begin
Writeln(‘Invalid values’);
Writeln(‘Please enter proper values’);

end
4. A A FAoz %e BAFE Format ZRAAE ALIAFYLE o] B¢
FRAE 25 ool £ AR EAGAT FAL. o) P A8 A3
SysUtils Unit-& Uses Aol 78 2871 dF Ut
What is your height in meters (e.g. 1.8 meter) : 1.8
What is your weight in kilos : 60.2
You are under weight, you need more 19.80 Kilos
Zrar
o] oA 7} 100% A&3et A2 obdutt PollA FFAE Astste WS AA S
A HolE 5 gt @A 2 aeln s} 22te BAE o DA 625 Uk
A4S, 0E + dt 22198 BEolUluA FAd i B4 £
FRsleH e u g FoguUn
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]u
1.9 case .. of #++
RN B0 tiR o el e, Z20] HERZ case .. of FF AU T case
<A ol me AAe Utk A T2IWLE case of TES ALE TS
Holg AYgyrh
o 3T
1.10 3AH =239
var
Meal: Byte;
begin
Writeln(‘Welcome to Pascal Restaurant. Please select your order’);
Writeln(‘1 — Chicken (10%)");
Writeln(‘2 — Fish 7$)");

Writeln(‘4 — Salad

(C

((

(L
Writeln(‘3 — Meat

(4
Writeln(‘5 - Orange Juice

((

Writeln(‘6 — Milk (1%)
Writeln;

Write(‘Please enter your selection: ’);
Readln(Meal);

case Meal of
1: Writeln(“You have ordered Chicken,’,
‘ this will take 15 minutes’);

T O N

: Writeln(“You have ordered Orange juice,’,
‘ this will take 2 minutes’);
6: Writeln(‘You have ordered Milk, this will take 1 minute’);
else
Writeln(‘Wrong entry’);
end;

Write(‘Press enter key to close’);

: Writeln(“You have ordered Fish, this will take 12 minutes’
: Writeln(“You have ordered meat, this will take 18 minutes
: Writeln(“You have ordered Salad, this will take 5 minutes’

Readln;
end
it 2AES Agelo] 2 TRaUL FADTY, o BPe A Aol T, BAD
=g =g 9 A4
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var
Meal: Byte;
begin
Writeln(‘Welcome to Pascal Restaurant. Please select your order’);
Writeln(‘1 — Chicken (10%)");
Writeln(‘2 — Fish (78)");
Writeln(‘3 — Meat (8%)");
Writeln(‘4 — Salad (2%)");
Writeln(‘5 - Orange Juice (1%)’);
Writeln(‘6 — Milk (1%)");
Writeln;
Write(‘Please enter your selection: ’);
Readln(Meal);
if Meal = 1 then
Writeln(‘You have ordered Chicken, this will take 15 minutes’)
else
if Meal = 2 then
Writeln(‘You have ordered Fish, this will take 12 minutes’)
else
if Meal = 3 then
Writeln(‘You have ordered meat, this will take 18 minutes’)
else
if Meal = 4 then
Writeln(“You have ordered Salad, this will take 5 minutes’)
else
if Meal = 5 then
Writeln(‘You have ordered Orange juice,’
¢ this will take 2 minutes’)
else
if Meal = 6 then
Writeln(‘You have ordered Milk, this will take 1 minute’)
else
Writeln(‘Wrong entry’);
end;
Write(‘Press enter key to close’);
Readln;
end.

25
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var
Mark: Integer;
begin
Write(‘Please enter student mark: ’);
Readln(Mark);
Writeln;

case Mark of
0 .. 39: Writeln(‘Student grade is: F7);
40 .. 49: Writeln(‘Student grade is: E’);
50 .. 59: Writeln(‘Student grade is: D’);
60 .. 69: Writeln(‘Student grade is: C’);
70 .. 84: Writeln(‘Student grade is: B’);
85 .. 100: Writeln(‘Student grade is: A’);

else
Writeln(‘Wrong mark’);

end;

Write(‘Press enter key to close’);

Readln;

end.
2] AAA (0 .. 39)9 22 HAE AL, Mark Lol o] ol &5}

W True® 5 Sdche o2 AW
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AAANNE 7| HE2RE EAHE Wopx z2Tdle] 7|HEl] 91y vk 7)o
g EWMTE EYHE AYUnt
var
Key: Char;
begin
Write(‘Please enter any English letter: ’);
Readln(Key);
Writeln;
case Key of
‘q’, ‘wl, el ),y wd, L ‘o, p
Writeln(‘This is in the second row in keyboard’);
:a”7 ‘S’? ‘d77 ‘f7’ ‘g’? ‘11;7 Lj’? Lk” 417:
Writeln(‘This is in the third row in keyboard’);
‘7', X', ‘¢, ‘v, ‘b, ‘n’) ‘m’:
Writeln(‘This is in the fourth row in keyboard’);
else
Writeln(‘Unknown letter’);
end;
Write(‘Press enter key to close’);
Readln;
end.

FE, case AT F 9 APolzkes MR 7S AHUSUS

RSN B A B4

‘7, ‘%', ‘e’ ‘v, ‘b’ ‘n’, ‘m’:

o]+ Keyg ©] &5 A% (2 x, ¢, v, b, n, m) F =2 DA FATHA case 7]

7 Agarts ougdyc

w9 ohe 9 2ol WS B e £5E 4 9

>

Yt

‘ [P RN T el
a’ ... 'd, X, Yy, ‘2

ol= gtol agkd Atelel AU x, v, 29k = ¥ FE= Ad T vy
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& )] d8E oA A4vie AAL, 20 BEL w71A)
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1.13 for =317

o) At Zol, AL EE Mgl A A5T
& Aok

b
r 0
i)
N,
do
<
-4
Ao
ftlo
>,
o
]

var
i: Integer;
Count: Integer;

begin
Write(‘How many times?’);
Readln(Count);
for i:= 1 to Count do

Writeln(‘Hello there’);

Write(‘Press enter key to close’);
Readln;

for =3E WAoo = Integer, Byte 18|31 Char®} Z¢
T

o
Ul - <]
o] WAE R We Er BE ALHIL REUL. £Z A2 g 9o
A2 2788 4 dov, £ A2HY uAS gE A4T 5 5T o2

var
i: Integer;
Count: Integer;
begin
Write(‘How many times?’);
Readln(Count);
for i:= 1 to Count do
begin
Writeln(‘Cycle number: 7, i);
Writeln(‘Hello there’);
end;
Write(‘Press enter key to close’);
Readln;
end.



Program MultTableWithForLoop;
{$mode objfpc}{$H+}

uses
{$IFDEF UNIX}{$IFDEF UseCThreads}
cthreads,
{$ENDIF }{$ENDIF}
Classes

var
X, i: Integer;
begin
Write(‘Please input any number:’);
Readln(x);
fori:=1to 12 do
Writeln(x," * 7,1, © = " x * i);

Writeln(‘Press enter key to close’);

Readln;
end.
Writeln 728 12 24502 A, 129 A8 o <o
=
o] TEOZ to 7|YE WA downto 71 PE=E AL
for €% 7B BE 4 A5

for i := 12 downto | do
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1.15 A =219
Fool A AE DL RAE 1 Z2A7WA 47k o] de £5 F3 2FY Ut
A& S013=3*2%1=6 JYrk
var
Fac, Num, i: Integer;
begin
Write(‘Please input any number:’);
Readln(Num);
Fac := 1;

for i := Num downto | do
Fac := Fac *
Writeln(‘Factorial of’, Num , ‘is’, Fac);
Writeln(‘Press enter key to close’);
Readln;
end.
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1.16 repeat until <3+
AR eI v sk for £HE T B2 repeat THES 7HEE 7F (5 Y
o} 7F7te] AFEl7l Ao A (True® HEH) =8l 2 ol 08 7F
o= PPk
o Al
var
Num: Integer;
begin
repeat
Write(‘Please input a number: ’);
Readln(Num);
until Num <= 0
Writeln(‘Finished, Press enter key to close’);
Readln;
end.
X AANA, 22 IR L FHFoR AYsta AL AN A AHE ) eteta
ST YU WeF 227k 08T AA G 2THE, 2 BES WAL AdU ) whob

Qe e ghol 02T} ATk =L A%E ATk

117 repeat $HEL A2F AW 221

var
Selection: Char;
Price: Integer;
Total: Integer;
begin
Total := 0
repeat
Writeln(‘Welcome to Pascal Restaurant. Please select your order’);
Writeln(‘1 — Chicken (10 Geneh)’);
Writeln(‘2 — Fish (7 Geneh)’);
Writeln(‘3 — Meat (8 Geneh)’);
Writeln(‘4 — Salad (2 Geneh)’);
Writeln(‘5 - Orange Juice(1 Geneh)’);
Writeln(‘6 — Milk (1 Geneh)’);
Writeln (‘X
Writeln;
Write(‘Please enter your selection: ’);
Readln(Selection);

- nothing’);
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case Selection of
‘1’: begin
Writeln(‘You have ordered Chicken, this will take 15 minutes’);
Price:= 10;
end;
‘2’: begin
Writeln(‘You have ordered Fish, this will take 12 minutes’);
Price:= 7;
end;
‘3’: begin
Writeln(‘You have ordered meat, this will take 18 minutes’);
Price:= &;
end;
‘4’: begin
Writeln(‘You have ordered Salad, this will take 5 minutes’);
Price:= 2;
end;
‘5’: begin
Writeln(‘You have ordered Orange juice, this will take 2 minutes’);
Price:= 1;
end;
‘6’: begin
Writeln(‘You have ordered Milk, this will take 1 minute’);
Price:= 1;
end;
else
begin
Writeln(‘Wrong entry’);
Price:= 0;
end;
end;
Total:= Total + Price;
until (Selection = ‘x’) or (Selection = ‘X’);
Writeln(‘Total price = ’, Total);
Write(‘Press enter key to close’);
Readln;
end.

ool Aol A o] HES g5 T

L. case 2710l begin end & #7150 o 7)o TEL s TEOR WEAL
Yy,

2. 29 F 714€ gt S8 WS Total 32 0(ASol 271 AA) o2 2
718 a& Utk 2 o8 A93 7148 v ¢3ult} Total Ao oS o)

Total := Total + Price;
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until UpCase(Selection) = ‘X’;
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1.18 while =37

While <322 repeat <323 §ASIA T, 0187 28 Ho] UL}

1. while VA= 22l Z]
Toll |A 3_ 3
LA,
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she} 213)
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317) Aol Al S WA FABA T repeat=
Z 3t o= repeat= AT I HE
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A
var
Num: Integer;
begin
Write(‘Please input a number: ’);
Readln(Num);
while Num > 0 do
begin
Write(‘From inside loop: input a number: ’);
Readln(Num);
end;
Write(‘Press enter key to close’);
Readln;

end.
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1.19 while $3FS A3 AEDE =23

var
Fac, Num, i: Integer;
begin
Write(‘Please input any number: ’);
Readln(Num);
Fac:= 1;
i := num;
while i > | do
begin
Fac:= Fac * i;
ii=1-1;
end;

Writeln(‘Factorial of ’, Num ,* is ’, Fac);
Writeln(‘Press enter key to close’);
Readln;

while $HEE 22 ALE7L 7] B WS B Fx ALHAY FA
T ASREUL 7= Aol g A2 g2 @7 99 S 273 Yo,
<8 wuieh gagych ik 1] S2etE s8R B4 9E AU
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1.20 E3+d
string BA& AL H FAE A
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o A A= AHEAF o] F2 ot ol 7] A string M4 oA HA AFESHEA
HA 2 Adyeh

var
Name: string;
begin
Write(‘Please enter your name: ’);
Readln(Name);
Writeln(‘Hello ’,Name);

Writeln(‘Press enter key to close’);
Readln;
end.

kg AL A AHE AT A3 BAL B ASEES AEE A
Quict.
var

Name: string;
Address: string;
ID: string;
DOB: string;
begin
Write(‘Please enter your name: ’);
Readln(Name);
Write(‘Please enter your address: ’);
Readln(Address);
Write(‘Please enter your ID number: ’);
Readln(ID);
Write(‘Please enter your date of birth: ’);
Readln(DOB);
Writeln(‘Hello ’,Name);
Writeln;
Writeln
Writeln
Writeln
Writeln(*
Writeln(*
Writeln(*
Writeln (¢
Writeln
Readln;
end.

‘Card?’);

‘ );
‘| Name : Name)

‘ AddIeSb : 7, Address);

| ID

‘D

ID);
OB :’, DOB);

AN S s

‘Press enter key to close’);
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of| Al 2}

FAGEL 1 BALEL HEY) A AT 5 AFTh A8 Sof, e
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var
YourName: string;
Father: string;
GrandFather: string;
FullName: string;

begin
Write(‘Please enter your first name: ’);
Readln(YourName);
Write(‘Please enter your father name: ’);
Readln(Father);
Write(‘Please enter your grand father name: ’);
Readln(GrandFather);
FullName: YourName + ‘ ’ + Father + ¢’ + GrandFather;
Writeln(‘Your full name is: ’, FullName);
Writeln(‘Press enter key to close’);
Readln;

end.

Baz o] AN A o SE Aol E £
22)ol BE Al FA(E LG BHE A EADUT

ALl 3l ALl A FAYAES FEA, AE S
=S EA}?‘S}D}EX] E= T o AleL Zo] HAE
e S ojei kA Hel g @ 5 ey

o] &2 FullNamedl £+ BEAES H

Ao
)

A9 oz wEUn

FullName := UpperCase(FullName);

23 o] EL £EAE v YT

FullName := LowerCase(FullName);

thE oAl A= Pos ?}—’FE ARE St AR AL o] BolA o EAFE A I G
Utk Pos e 2429 3084 £A(JHE2)E FEAY, AT 9B A
TA ot AR o] e A7 02 ey T
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var
YourName: string;
begin
Write(‘Please enter your name: ’);
Readln(YourName);
if Pos(‘a’, YourName) > 0 then
Writeln(‘ Your name contains a’);
else
Writeln(‘Your name does not contain a letter’);

Writeln(‘Press enter key to close’);
Readln;
end.

o) 2o YEA AT EFST AT, Pos FFE oL A4 g AU
ok 9Lk A 9217k Bekke] At ash 2] mpE gt

o) RAE N7 A% BE AGA 0B FAZ ARAR HE T2l A
2 AT 5 g

e 4 LEAAE, AEA ol Bl 0] 97} olTo] AT EAT A

U}

var
YourName: string;
begin
Write(‘Please enter your name: ’);
Readln(YourName);
if Pos(‘a’, YourName) > 0 then
begin
Writeln(‘Your name contains a’);
Writeln(‘a position in your name is: ’,
Pos(‘a’,LowerCase(YourName)));
end
else
Writeln(‘Your name does not contain a letter’);
Writeln(‘Press enter key to close’);
Readln;
end.
ool B} ol 4ol a 27} SOl ULk, Pos T4k AHLA ool A £ )
A8 917 ddag HEY A0S AL Aol FASUD
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Writeln(‘Your name length is ’,Length(YourName),” letters’);

E3 A MBS AgT] BALY RNA 2/ RAE AL & AU

Writeln(“Your first letter is ', YourName[1]);

dJelm EEA EAE AAE 5 gtk

Writeln(‘Your second letter is ’,YourName|2]);

whA g 2 A S 4 e

Writeln(‘Your last letter is ’,YourName[Length(YourName)]);

| 2AEE HolE 4 YU

E

A

frt

ol

for i := | to Length(YourName) do
Writeln(YourNameli]);
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1.21 Copy

copy THE AHET] BAAY ANE BAY S+ gt o & Fo] B4 hello
world o1 A “world” o) & 714 2211 TP, ofel 9217} 244 8 o A2} 2ol %
i 9AE 21 9L v At .

i W
4 H
30
]
i
Iv)

var
Line: string;
Part: string;

begin
Line:= ‘Hello world’;
Part:= Copy(Line, 7, 5);
Writeln(Part);

Writeln(‘Press enter key to close’);
Readln;
end.

o] 7B F3 Copy B4 AHEBHUTH

Part := Copy(Line, 7, 5);

9 T2l o3t AU

Part := 359 2331 AL ‘world’ )€ AFE TAE AF-YUTh

Line ‘Hello world’&7%°] £+ 9 EAE Yt

7 FHI AL Y] FAEY AR A F2 Jdd 2 gt o] F-f o] f1 A
Ae TAE w dY ok

5 e B2 dojdytt o] Af ©o] ‘world’d] ZAolE JERHUTH

Tk AA AN, AHG AN A February 2 22 &
g0l AR D ol L Febsh 0L FS w7
var
Month: string;
ShortName: string;
begin
Write(‘Please input full month name e.g. January : ’);
Readln(Month);
ShortName:= Copy(Month, 1, 3);
Writeln(Month,  is abbreviated as : ’, ShortName);
Writeln(‘Press enter key to close’);
Readln;
end.



1.22. INSERT Z Z A]A] 41

1.22 Insert 3 2 X]#]

Insert 224 A% 20 3 FAAE YT % 19 9l Bade A
= EAY A3 QAR B2, Isert= OLE BEADe] F00] 89 EAAL

EESSIoN

2 o], oS A A XAH ‘Hello Pascal world’” 2+= A7} = A ‘Hello world’
FEA Lol ‘Pascal’ FAEE B F AFYTH

var
Line: string;

begin
Line:= ‘Hello world’;

Insert(‘Pascal ’, Line, 7);
Writeln (Line);

Writeln(‘Press enter key to close’);
Readln;
end.

Insert T2 A A9 AAEL t}o3 25Ut

‘Pascal’ T4 £ardel Yodt 39 ALY
Line A g ZIAE 7124 2 A Z2<2 At}

7 g EAGo] e A% A AUtk o] B Hello world’S] AR 3
ched AFAA F4 A7 5 ASUTh

1.23 Delete & A A

| ZEANE EAARRE By 99 EAAE AAR A AT A
39 BADe A2} Aol B & DL} YTk

A E S0, ‘Heo World’E W7 13} ‘Hello World’ 2 K€ 1l BASL AHA| 612
i, o2t 2ol & 4 lFUth

var
Line: string;

begin
Line:= ‘Hello world’;
Delete(Line, 3, 2);
Writeln (Line);
Writeln(‘Press enter key to close’);
Readln;

end.
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1.24 Trim g

o] e ALY AAFEF 2 FE T £AE AASH] Aol AT
ghek ¢ Hello "7} S0 Y= & o] & AEIE wl Hello’
7b gUch 39 Alolate]l 2 EAHES Y3 Aol Eiﬂl” el A & TAE

HoE % eyt

-l>

Program TrimStr;
{$mode objfpc}{$H+};

uses
{$IFDEF UNIX}S$IFDEF UseCThreads}
cthreads,
{$ENDIF }{$ENDIF }
Classes, SysUtils

var
Line: string;
begin
Line:= ¢ Hello ’;

Writeln(‘<’; Line, ‘>);
Line:= Trim(Line);
Writeln(‘<’, Line, ‘>’);
Writeln(‘Press enter key to close’);
Readln;

end.
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1.25 StringReplace ¥4~

StringReplace 4 F017 £A Qo] sl EAS 0|t 39 £A4LL hE FA
2Agz BT

Program StrReplace;
{$mode objfpc}{$H+};

uses
{$IFDEF UNIX}{$IFDEF UseCThreads}
cthreads,
{$ENDIF }{$ENDIF}
Classes, SysUtils

var
Line: string;
Line2: string;
begin
Line:= ‘This is a test for string replacement’;
Line2:= StringReplace(Line, * 7, ‘-, [rfReplaceAll]); Writeln(Line);
Writeln (Line2);
Write(‘Press enter key to close’);
Readln;
end.

StringReplace 52] QA= oS3 25Ut}

Line $A3H1 3= 92 Ex9AdY ).
¢ e = 519 219 AUt} o] dAldAs Wl E A UT)
0 AR FAGA 2 AL aHrE e S B4 A

P2S

[rfReplaceAll] u% AUt} o 4% &} 519 £AL) RE 90
3 ule 3 gy

e 2% oAolA B0l thA shte] Ad WMAT A4S Line? WS E
AT SE i, A8 das ke 97 2 At
var
Line: string;
begin
Line := ‘This is a test for string replacement’;
Writeln (Line);
Line := StringReplace(Line, ¢ ', *-’, [rfReplaceAll]);
Writeln(Line);
Write(‘Press enter key to close’);
Readln;

end.
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CHAPTER 1.

Numbers|1] := 30;

FRA Wl e Yoy, dds 28 AR

Numbers[2] := 315;

YUt At B3/ 2e A3AAE o Bobd ARtk

var Marks: array [1 .. 10] of Integer;
i: Integer;
begin
for i:= 1 to 10 do
begin
Write(‘Input student number ’, i, ¢ mark: ’);
Readln(Marksli]);
end;
for i:= 1 to 10 do
begin
Write(‘Student number ’, i, ¢ mark is : ’, Marks]i]);
if Marks|i] >= 40 then
Writeln(* Pass’)
else
Writeln(* Fail’);
end;

end.

Writeln(‘Press enter key to close’);
Readln;

A Ha Y AHe 7HAL7] A ol ZEE AT

olo] 7] =
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var
Marks: array [1 .. 10] of Integer;
i: Integer;
Max, Min: Integer;
begin
for i:= 1 to 10 do
begin
Write(‘Input student number ’, i, ¢ mark: );
Readln(Marksli]);
end;

Max := Marks|[1];
Min := Marks][1];

for i:= 1 to 10 do
begin

if Marks|i] > Max then
Max := Marks|i];

if Marksli] < Min then
Min := Marks]i];

Write(‘Student number 7, i, * mark is : ’, Marks|i]);

if Marks[i] >= 40 then
Writeln(* Pass’)
else
Writeln(‘* Fail’);
end;
Writeln(‘Max mark is 7, Max);
Writeln(‘Min mark is ’, Min);
Writeln(‘Press enter key to close’);
Readln;

AR A A (Marks[1])& W) H & A2 7P star, v A 4453

Max := Marks|[1];
Min := Marks][1];

8 ol A Zh7ke] Aol T8l Mazsh Ming ¥l
H 242 uRa, Minkt 48 28 20w Mind| 3
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for i:= 1 to 10 do

begin

if Marks[i] > Max then
Max := Marksli;

if Marks|i] < Min then
Min := Marks]i];
Write(‘Student number ’, i, ¢ mark is : ’, Marks|i]);
if Marks|i] >= 40 then
Writeln(‘ Pass’)
else
Writeln(* Fail’);
end;

3 IE RS FAXS] dAH oz NG T s

Writeln(‘Max mark is 7, Max);

Writeln(‘Press enter key to close’);
Readln;

Flol FEoA A HAa e 7I5ste Z2AAE MBS AU

Frar

CAool NSt o] 08 7oz s deAg 2 ML AT & Aw Ut
Marks: array [0 .. 9] of Integer;
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Numbers[0] := 30;

Fn) G2

Numbers[1] := 315;

nhA B} g

Numbers[9] := 10;

EE o 2ol AashE gt

Numbers[High(Numbers)| := 10;

47
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e 2e Qo B 2 A9 & QAT dnEE AL e Y WrE
Ad 4 gom, o WrEL Feeha 25
| W/BEY BYe v el MeAd AF YU o2 S A% 4 A

2. AR Z7]: AP
3. A dAE AL g

o= AAAE A Az e o] 42 AsAE et E dZEd 22 5

9%tk

Program Cars;
{$mode objfpc}{$H+}

uses
{$IFDEF UNIX}S$IFDEF UseCThreads}
cthreads,
{$ENDIF }{$ENDIF }
Classes

type
TCar = record
ModelName: string;
Engine: Single;
ModelYear: Integer;
end;
var
Car: Tcar;
begin
Write(‘Input car Model Name: ’);
Readln(Car.ModelName);
Write(‘Input car Engine size: ’);
Readln(Car.Engine);
Write(‘Input car Model year: 7);
Readln(Car.ModelYear);
Writeln;
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Writeln(‘Car information: ’);
Writeln(‘Model Name : ’; Car.ModelName);
Writeln(‘Engine size : ’, Car.Engine);
Writeln(‘Model Year : 7, Car.ModelYear);
Write(‘Press enter key to close..”);
Readln;
end.

o] AN E ‘type’ 71N EE A3 A B A (record) S A2 HFH T

type
TCar = record
ModelName: string;
Engine: Single;
ModelYear: Integer;
end;

27} o}p]?ﬂr Paolgts AL FAE] Y8 Cardll —‘EZ}(T)% H3syrh
He ] 2 Car, Hour, UserName*] 3 O]Z] W F A o|E2 TCar, THour,
TUserNamesh 2-0] o]0} Guith. 0| A& 52 o] B2 ok,

o] M2 F< A8t ™, o] o g AL} 2ol AAT AdYrh
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var
Car: Tcar;
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Car.ModelName
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Program ReadFile;
{$mode objfpc}{$H+}

uses
{$IFDEF UNIX}{SIFDEF UseCThreads}
cthreads,
{$ENDIF }{$ENDIF }
Classes, SysUtils

var
FileName: string;
F: TextFile;
Line: string;

begin
Write(‘Input a text file name: ’);
Readln(FileName);
if FileExists(FileName) then
begin

AssignFile(F, FileName);
Reset(F);

while not Eof(F) do
begin
Readln(F, Line);
Writeln(Line);
end;
CloseFile(F);
end
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else
Writeln(‘File does not exist’);
Write(‘Press enter key to close..”);
Readln;
end.

520l AE the 3 o

/etc/resolv.conf

wi kg o o BL AP 4 Ay
/proc/meminfo
/proc/cpuinfo

giE A2 TRl A6 Aze 99 35, ZEAAE SR,

1.
F: TextFile
TextFile-> &2~ JJra‘ HEE AAsH7] S8l Abget= F Pt o] |
2o A82 98] HAE sl ALT 5 Ak
2.
if FileExists(FileName) then
FileEzists+= SysUtils Unitol] £ 01 g AUt atde 2R E sty
A7 iAol o] A= B Trues =H=HUT
3.

AssignFile(F, FileName);
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Reset(F);

Reset ZRAA £ HAE 9td S Q7] dgor gojgola 3tdo AMA &
2kl ¢17] £HE —?4?1@1/15}-

hok A AR Ao Al o] ¢)7] @dro] vk, FH2Z AE(Access denied)
9 22 9F WAAZ Gehd AU

ReadIn(F, Line);

Readln ZEZ XN A= 2 HEH AT 3 E5 o5 HE Lineol 9714
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while not Eof(F) do
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CloseFile(F);
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1.31 H2E 31 g3 7156}

var
FileName: string;
F: TextFile;
Line: string;
ReadyToCreate: Boolean;
Ans: Char;
i: Integer;
begin
Write(‘Input a new file name: ’);
ReadIn(FileName);
if FileExists(FileName) then
begin
Write(‘File already exist, did you want to overwrite it? (y/n)’);
Readln(Ans);
if upcase(Ans) = ‘Y’ then
ReadyToCreate:= True
else
ReadyToCreate:= False;
end
else
ReadyToCreate:= True;
if ReadyToCreate then
begin
AssignFile(F, FileName);
Rewrite(F);
Writeln(‘Please input file contents line by line, ’
, ‘when you finish write % then press enter’);
1= 1;
repeat
Write(‘Line # ', i, “);
Inc(i);
Readln(Line);
if Line <> ‘%’ then
Writeln(F, Line);
until Line = ‘%’;
CloseFile(F);
end
else
Writeln(‘Doing nothing’);
Write(‘Press enter key to close..”);
Readln;
end.

o] Al A= B2 FL3 R45S AHEIAFYTH
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. Boolean &:

ReadyToCreate: Boolean;

o] HL True3td FalseZr & & dhbul Xd 4= 95U th o] 3
while <= 3HF T repeat BEA vlz AR 4= Q5T

ore] olAlel A TFet 2L if 2AFS AHS AL Tk
if Marks|[i] > Max then

7| True =+ FalseE HEHUT}

UpCase T

if upcase(Ans) = ‘Y’ then
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Rewrite(F);
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Writeln(F, Line);
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5. Inc ZZAJA:

Inc(i);

axis}

o] ZRAAL A54Y WSS 197 FHEUD e TEF 25U

i=1i+1;

6. CloseFile Z & A] A]:

CloseFile(F);
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var
FileName: string;
F: TextFile;
Line: string;
i: Integer;

begin
Write(‘Input an existed file name: ’);
Readln(FileName);
if FileExists(FileName) then
begin
AssignFile(F, FileName);
Append(F);
Writeln(‘Please input file contents line by line’,
‘when you finish write % then press enter’);
i=1;
repeat
Write(‘Line # , i, ¢ append :’);
Inc(i);
Readln(Line);
if Line <> ‘%’ then
Writeln(F, Line);
until Line = ‘%’;
CloseFile(F);
end
else

Writeln(‘File does not exist’);
Write(‘Press enter key to close..”);
Readln;
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var
F: file of Byte;
Mark: Byte;
begin
AssignFile(F, ‘marks.dat’);
Rewrite(F);
Writeln(‘Please input students marks, write 0 to exit’);
repeat
Write(‘Input a mark: ’);
Readln(Mark);
if Mark <> 0 then
Write(F, Mark);
until Mark = 0;
CloseFile(F);
Write(‘Press enter key to close..”);
Readln;
end.

o AN FAH AL F5] A o] FEL ASALUTH

F: file of Byte;
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F: file of Byte;

=3 G474 o] AREE 1537 93] Writeln A Write 5 153

CR/LF & L}% t}é ]x] vk Write: 01 j %O‘ ol liEoﬂ A7tz W=
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Program ReadMarks;
{$mode objfpc}{$H}

uses
{$IFDEF UNIX}{$IFDEF UseCThreads}
cthreads,
{$SENDIF }{$ENDIF}
Classes, SysUtils

var
F: file of Byte;
Mark: Byte;
begin
AssignFile(F, ‘marks.dat’);
if FileExists(‘marks.dat’) then
begin
Reset(F);
while not Eof(F) do
begin
Read(F, Mark);
Writeln(‘Mark: ’, Mark);
end;
CloseFile(F);
end
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else
Writeln(‘File (marks.dat) not found’);

Write(‘Press enter key to close..”);
Readln;
end.

U oA = 7122 HolHE AAstA o A Bl Z=E B2l WY
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Program AppendMarks;
{$mode objfpc}{$H+}

uses
{$SIFDEF UNIX}{S$IFDEF UseCThreads}
cthreads,
{$ENDIF }{$ENDIF }
Classes, SysUtils

var
F: file of Byte;
Mark: Byte;
begin
AssignFile(F, ‘marks.dat’);
if FileExists(‘marks.dat’) then
begin
FileMode:= 2;
Reset(F);
Seek(F, FileSize(F));
Writeln(‘Please input students marks, write 0 to exit’);

repeat
Write(‘Input a mark: ’);
Readln(Mark);
if Mark <> 0 then
Write(F, Mark);
until Mark = 0;
CloseFile(F);
end
else
Writeln(‘File marks.dat not found’);

Write(‘Press enter key to close..’);

Readln;
end.
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Tk o/ A7 A2 RER Y-S I8 stth= AL YE 7] S50 FileMode
o 28 G FUth FileModeo] 02 ¢17] A§, 12 27] AL, 2(718)= ¢
71/ 271 o v gy Tt

FileMode:= 2;
Reset(F);
Reset-> AAAA T §7]/227] £AEE £, o8& o]F= Lo vtz
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Seek(F, FileSize(F));
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Program ReadWriteMarks;

{$mode objfpc}{$H+}

uses
{$IFDEF UNIX}S$IFDEF UseCThreads}
cthreads,
{$ENDIF }{$ENDIF }
Classes, SysUtils

var
F: file of Byte;
Mark: Byte;
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begin
AssignFile(F, ‘marks.dat’);
if FileExists(‘marks.dat’) then
begin
FileMode:= 2;
Reset(F);
Writeln(‘File already exist, opened for append’);

while not Eof(F) do
begin
Read(F, Mark);
Writeln(‘Mark: ’, Mark);
end
end
else
begin
Rewrite(F);
Writeln(‘File does not exist, not it is created’);
end;

Writeln(‘Please input students marks, write 0 to exit’);
Writeln(‘File pointer position at record # ’, FilePos(f));
repeat

Write(‘Input a mark: ’);

Readln(Mark);

if Mark <> 0 then

Write(F, Mark);

until Mark = 0;
CloseFile(F);

Write(‘Press enter key to close..”);
Readln;

Fz o] AAH A= Seek ZRAIAE AHESHA @FaL, Al BE 949
1 oz

o). o] SA(RE AL 97 LIAHE 59 wpA

¢
D)
4o,
32,
hit)3
2

b A AE A ARE AT 93 ALER o Fol 2 HAL A
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1.40 A=} dlolg]WjolA 2 Y
Program CarRecords;

{$mode objfpc}{$H+}
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uses
{$IFDEF UNIX}{SIFDEF UseCThreads}
cthreads,
{$ENDIF }{$ENDIF}

Classes, SysUtils

{ you can add units after this };

type
TCar = record
ModelName: string[20];
Engine: Single;
ModelYear: Integer;
end;
var
F: file of TCar;
Car: TCar;
begin
AssignFile(F, ‘cars.dat’);

if FileExists(‘cars.dat’) then
begin
FileMode:= 2; Open file for read/write

Reset(F); open file
Writeln(‘File already exist, opened for append’);

Display file records
while not Eof(F) do
begin
Read(F, Car);
Writeln;
Writeln(‘Car # ’, FilePos(F), * );
Writeln(‘Model : ’, Car.ModelName);
Writeln(‘Year : 7, Car.ModelYear);
Writeln(‘Engine: ’, Car.Engine);

end
end
else File not found, create it
begin
Rewrite(F);
Writeln(‘File does not exist, created’);
end;

Writeln(‘Please input car informaion, ’,
‘write x in model name to exit’);
Writeln(‘File pointer position at record # ’, FilePos(f));

olo] 7] =
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repeat
Writeln(* );
Write(‘Input car Model Name : ’);
Readln(car.ModelName);
if Car.ModelName <> ‘x’ then
begin
Write(‘Input car Model Year : ’);
Readln(car.ModelYear);
Write(‘Input car Engine size: ’);
Readln(car.Engine);
Write(F, Car);

end;
until Car.ModelName = ‘x’;
CloseFile(F);
Write(‘Press enter key to close..);
Readln;
end.

o] A A A= As At AEE 3] ﬁ*ﬂ TCar & AAF}HF YT
I = (ModelName)+ A4 A9k H ol Zo]|20]& AlstalsyTh

ModelName: string[20];
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Program FilesCopy;
{$mode objfpc}{$H+}

uses
{$IFDEF UNIX}{$IFDEF UseCThreads}
cthreads,
{$ENDIF }{$ENDIF}
Classes, SysUtils

var
SourceName, DestName: string;
SourceF, DestF: file of Byte;
Block: Byte;
begin
Writeln(‘Files copy’);
Write(‘Input source file name: ’);
Readln(SourceName);
Write(‘Input destination file name: ’);
Readln(DestName);
if FileExists(SourceName) then
begin
AssignFile(SourceF, SourceName);
AssignFile(DestF, DestName);

FileMode:= 0
Reset(SourceF);
Rewrite(DestF);

Writeln(‘Copying..”);
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while not Eof(SourceF) do
begin
Read(SourceF, Block);
Write(DestF, Block);

end;

CloseFile(SourceF);

CloseFile(DestF);
end

else
Writeln(‘Source File does not exist’);
Write(‘Copy file is finished, press enter key to close..”);
Readln;
end.

o] oA AW, /12 3 ol 23t A ) 51 o 2L AHT Ak
Pzol At e o] §2 e 99 + gk

Input source file name: /home/motaz/quran/mishari/32.mp3
Input destination file name: /home/motaz/Alsajda.mp3

A=S ol e AT 9ET 5 Yok

Input source file name: c:\photos\mypphoto.jpg
Input destination file name: c:\temp\copy.jpg
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Program FilesCopy2;
{$mode objfpc}{$H+}

uses
{$IFDEF UNIX}S$IFDEF UseCThreads}
cthreads,
{$ENDIF }{$ENDIF }
Classes, SysUtils

var
SourceName, DestName: string;
SourceF, DestF: file;
Block: array [0 .. 1023] of Byte;
NumRead: Integer;

begin
Writeln(‘Files copy’);
Write(‘Input source file name: ’);
Readln(SourceName);
Write(‘Input destination file name: ’);
Readln(DestName);

if FileExists(SourceName) then
begin
AssignFile(SourceF, SourceName);
AssignFile(DestF, DestName);

FileMode:= 0
Reset(SourceF, 1);
Rewrite(DestF, 1);
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Writeln(‘Copying..”);
while not Eof(SourceF) do
begin

BlockRead(SourceF, Block, SizeOf(Block), NumRead);

BlockWrite(DestF, Block, NumRead);
end;
CloseFile(SourceF);
CloseFile(DestF);
end
else
Writeln(‘Source File does not exist’);

Write(‘Copy file is finished, press enter key to close..’);

Readln;
end.
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SourceF, DescF: file;
2. 917]/27] 4= (Buffer)
Block: array [0 .. 1023] of Byte;
3. %71 A8 Bew st wPAH 39 A7)

Reset(SourceF, 1);
Rewrite(DestF, 1);
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4. Read ZZA| A

BlockRead(SourceF, Block, SizeOf(Block), NumRead);

BlockRead =2 A A% vlB A4 5ol AL gtk & ol we el ol
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BlockWrite(DestF, Block, NumRead);
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Program ReadContents;

{$mode objfpc}{$H+}
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uses
{$IFDEF UNIX}{$IFDEF UseCThreads}
cthreads,
{$ENDIF }{$ENDIF}
Classes, SysUtils

var
FileName: string;
F: file;
Block: array [0 .. 1023] of Byte;
i, NumRead: Integer;
begin
Write(‘Input source file name: ’);
Readln(FileName);
if FileExists(FileName) then
begin
AssignFile(F, FileName);
FileMode:= 0;
Reset(F, 1);
while not Eof(F) do
begin
BlockRead(F, Block, SizeOf(Block), NumRead);
for i:= 0 to NumRead - |1 do
Writeln(Block([i], “:*, Chr(Blockli]));
end;
CloseFile(F);
end
else

Writeln(‘Source File does not exist’);

Write(‘press enter key to close..’);
Readln;
end.
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Program DateTime;
{$mode objfpc}{$H+}

uses
{$IFDEF UNIX}{$IFDEF UseCThreads}
cthreads,
{$ENDIF }{$SENDIF}
Classes, SysUtils

begin
Writeln(‘Current date and time: ’, DateTimeToStr(Now));
Write(‘Press enter key to close’);
Readln;

end.

Now &7} 5| £ F & TDateTime B2 v 7] 13 SysUtils Unitoll E] &
DateTimeToStr S++E A5 Yt
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Writeln(‘Current date and time: ’, Now);
wE A BRI A RES EAARE T A 9R/ AT A8 FLE 9

=

Writeln(‘Current date is: ’, DateToStr(Now));
Writeln(‘Current time is: ’; TimeToStr(Now));
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Date &+ 259 E& £ HE21 53 Time T+

Ut

Writeln(‘Current date is: ’, DateToStr(Date));
Writeln(‘Current time is: ’, TimeToStr(Time));

)

o] F 712 2 A7) o2 &0l 0= U, & 9] Date T+ IA)
IRE HEWEA A7 BE O(A]ZF BB A2 02 12:00 am(AHE) & 9 v])S
s HE2EA G R 02 FiEo A9

o] AL DateTimeToStr T4E Z3 g 4+ Jd5U )

Writeln(‘Current date is: 7, DateTimeToStr(Date));
Writeln(‘Current time is: ’, DateTimeToStr(Time));

7

DateTimeToStro AFE12) /A 7F ARl upeh G/ A7 BelZUch of
AT E 719 AFE A28 Apolo| A WS E AR T, FormatDateTime 3F4
W AFE AR A7 gl 2207t 448 AU IR A0S EAR

AU N

Writeln(‘Current date is: 7,
FormatDateTime(‘yyyy-mm-dd hh:mm:ss’, Date));

Writeln(‘Current time is: 7,
FormatDateTime(‘yyyy-mm-dd hh:mm:ss’, Time));

T Al Al M & G/ A S ASFERE o E AolH, o] el g s o
Star w2 A5 U

begin
Writeln(‘Current date and time is 7,
FormatDateTime(‘yyyy-mm-dd hh:nn:ss’, Now));
Writeln(‘Yesterday time is 7,
FormatDateTime(’yyyy-mm-dd hh:nn:ss’, Now - 1));
Writeln(‘Tomorrow time is 7,
FormatDateTime(‘yyyy-mm-dd hh:nn:ss’, Now + 1));
Writeln(‘Today + 12 hours is ’,
FormatDateTime(‘yyyy-mm-dd hh:nn:ss’, Now + 1/2));
Writeln(‘Today + 6 hours is 7,
FormatDateTime(‘yyyy-mm-dd hh:nn:ss’, Now + 1/4));
Write(‘Press enter key to close’);
Readln;
end.

SAZRE LS OEAL Y, 322 a3 G AL M AU L ol
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var
ADate: TDateTime;
begin
ADate:= EncodeDate(1975, 11, 16);
Writeln(‘My date of birth is: ’; FormatDateTime(‘yyyy-mm-dd’, ADate));
Write(‘Press enter key to close’);
Readln;
end.

EncodeDate 4= A, 9, 4 8o 2 drolEo|w, TDateTime 2] 349
Foz A/d/d TS HEH

EncodeTime T4+ A, 2, 2 28|31 |2 & WolEo|n, 5112 TDateTime
FOZ AT FS HE=HYTh

var
ATime: TDateTime;
begin
ATime:= EncodeTime(19, 22, 50, 0);
Writeln(‘Almughrib prayer time is: ’, FormatDateTime(‘hh:mm:ss’; ATime));
Write(‘Press enter key to close’);
Readln;
end.
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var
Year2012: TDateTime;
begin
Year2012:= EncodeDate(2012, 1, 1);
if Now < Year2012 then
Writeln(‘Year 2012 is not coming yet’)
else
Writeln(‘Year 2012 is already passed’);
Write(‘Press enter key to close’);
Readln;
end.
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var
Year2012: TDateTime;
Diff: Double;

begin
Year2012:= EncodeDate(2012, 1, 1);
Diff:= Abs(Now — Year2012);

if Now < Year2012 then

Writeln(‘Year 2012 is not coming yet, there are ’,
Format(‘%0.2f’, [Dift]), ¢ days Remaining )

else

Writeln(‘First day of January 2012 is passed by ’,
Format(‘%0.2{", [Diff]), * Days’);

Write(‘Press enter key to close’);

Readln;

end.

Diff=
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Program news;

{$mode objfpc}{$H+}
uses
{SIFDEF UNIX}{$IFDEF UseCThreads}
cthreads,
{$ENDIF } {SENDIF }
Classes , SysUtils

var
Title: string;
F: TextFile;
begin
AssignFile(F, ‘news.txt’);
if FileExists(‘news.txt’) then
begin

Reset(F);
while not Eof(F) do
begin
Readln(F, Title);
Writeln(Title);
end;
CloseFile(F);
Append(F);
end
else
Rewrite(F);

Write(‘Input current hour news title: ’);
Readln(Title);

Writeln(F, DateTimeToStr(Now), ‘, ', Title);
CloseFile(F);

Write(‘Press enter to close’);
Readln;
end.
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Writeln(5);
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Program FuelConsumption;
{$mode objfpc}{$H+}

uses
{$IFDEF UNIX}S$IFDEF UseCThreads}
cthreads,
{$ENDIF }{$ENDIF}
Classes , SysUtils

const GallonPrice = 6.5;

var
Payment: Integer;
Consumption: Integer;
Kilos: Single;

begin
Write(‘How much did you pay for your car’s fuel: ’);
Readln(Payment);
Write(‘What is the consumption of your car? (Kilos per Gallon): );
Readln(Consumption);

Kilos:= (Payment / GallonPrice) * Consumption;
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Writeln(‘This fuel will keep your car running for : ’
Format(‘%0.1{’, [Kilos]), ¢ Kilometers’);

Write(‘Press enter’);

Readln; end.

)

ore] Ao A The Mol met AR ARE A BY 4 U= AelE A2l
SEER P DI]cs

LA A 4% @4 Aol U@ 2D A=uE 99 AE A4 A9
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1.51 A543

N5Be 52 oAl Dol BAIE A8sHE A5 GAUTH ol Sol, o] W4 (Ara-
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Program OrdinalTypes;

{$mode objfpc}{$H+}
uses
{$SIFDEF UNIX}{S$IFDEF UseCThreads}
cthreads,
{SENDIF}{$ENDIF}
Classes

type
TLanguageType = (ltArabic, ltEnglish);
var
Lang: TLanguageType;
AName: string;
Selection: Byte;
begin
Write(‘Please select Language: 1 (Arabic), 2 (English)’);
Readln(Selection);
if Selection = | then
Lang:= ltArabic
else
if selection = 2 then
Lang:= 1tEnglish
else
Writeln(‘Wrong entry’);
if Lang = ItArabic then

Write(‘cle! gale: );
else
if Lang = ItEnglish then
Write("What is your name: ’);

Readln(AName);
if Lang = ltArabic then
begin

Writeln(‘el C> »', AName);

Write(‘ébjy.” sl Jes) CLM g Ll e )
end
else
if Lang = ItEnglish then
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begin
Writeln(‘Hello ’; AName);
Write(‘Please press enter key to close’);
end;

7

Readln;

end.
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1.52 Set
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1. 2% AAE VehlE A58 39 Gtk TApplicationEny

TApplicationEnv = (aeLinux, aeMac, aeWindows);

FireFox: set of TApplicationEnv;

3. T2 Set Wl LFAA e dEITh

FireFox := [aeLinux, acWindows];

Program Sets;
{$mode objfpc}{$H+}

uses
{$IFDEF UNIX}{$IFDEF UseCThreads}
cthreads,

{$ENDIF }{$ENDIF }
Classes

type
TApplicationEnv = (aeLinux, aeMac, aeWindows);
var
FireFox: set of TApplicationEnv;
SuperTux: set of TApplicationEnv;
Delphi: set of TApplicationEnv;
Lazarus: set of TApplicationEnv;
begin
FireFox:= [aeLinux, aeWindows|;
SuperTux:= [aeLinux]|;
Delphi:= [aeWindows];
Lazarus:= [aeLinux, aeMac, acWindows];
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if aeLinux in Lazarus then

Writeln(‘There is a version for Lazarus under Linux’)
else

Writeln(‘There is no version of Lazarus under linux’);

if aeLinux in SuperTux then

Writeln(‘There is a version for SuperTux under Linux’)

else

Writeln(‘There is no version of SuperTux under linux’

if aeMac in SuperTux then
Writeln(‘There is a version for SuperTux under Mac’)
else

);

Writeln(‘There is no version of SuperTux under Mac’);

Readln;
end.

=

oL
o

2~
ES
if Month in [1,3,5,7,5,10,12] then
Writeln(‘This month contains 31 days’);
T A 22 tE Aol thet Set FE= AHEE

if Char in [‘a’, ‘A’| then
Writeln(‘This letter is A’);
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1.54 try except 4+
T
try

CallProcl;
CallProc2;

except
on e: exception do
begin
Writeln(‘Error:” + e.message);
end;
end;
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T2 U710l tigh ol Al Ut

Program ExceptionHandling;
{$mode objfpc}{$H+}

uses
{$SIFDEF UNIX}{$IFDEF UseCThreads}
cthreads,
{$ENDIF } {SENDIF }
Classes, SysUtils

var
x, y: Integer;
Res: Double;
begin
try
Write(‘Input x: );
Readln(x);
Write(‘Input y: ’);
Readln(y);
Resi=x / y;
Writeln(‘x / v = 7, Res);

except
on e: exception do
begin
Writeln(‘An error occurred: ’, e.message);
end;
end;
Write(‘Press enter key to close’);
Readln;

I~

try ol T Mol dFUTh AL BEL try..except Aolo] Y R T
3, g2 BEL except .. end Aol AdHU T

FARJAZIE AREFH AT, Z2 T W2 except A A (ex-
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Eato)

y gl 0ok oo 7k A = e Edyth

Res:=x/y
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1.55 try finally
?_

i

try

CallProcl;
CallProc2;

finally
Writeln(‘This line will be printed in screen for sure’);
end;

try finally A& AHES 7] Z2 a8 gy
Program ExceptionHandling;

{$mode objfpc}{$H+}

uses
{$SIFDEF UNIX}{$IFDEF UseCThreads}
cthreads,
{SENDIF}{$ENDIF}

Classes

var
X, y: Integer;
Res: Double;
begin
try
Write(‘Input x: 7);
Readln(x);
Write(‘Input y: ’);
Readln(y);
Resi=x / y;
Writeln(‘x / y = 7, Res);
finally
Write("Press enter key to close’);
Readln;
end;

a8Y

ftlo

oAl &7 A o Fees AR ZE ARl finally .. end FF
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Program RaiseExcept;
{$mode objfpc}{$H+}

uses
{$SIFDEF UNIX}{$IFDEF UseCThreads}
cthreads,
{$ENDIF}{$ENDIF}
Classes, SysUtils

var
x: Integer;
begin
Write(‘Please input a number from 1 to 10: ’);
Readln(x);
try
if (x<1)or (x> 10) then
raise exception.Create(‘x is out of range’);
Writeln(* X * 10 = 7, x * 10);
except
on e: exception do
begin
Writeln(‘Error: * + e.Message);
end;
end;
Write(‘Press enter to close’);
Readln;
end.

A&7 15 1077}1]4 W9 5k e A=, o9l (X is out of range) 7}
Tsold Aolal o] Bio A o &) A7}t it 22 232
t}. kS try except /~]-0] Oﬂ raise 719 EE X3S I=E A ﬂj—, EE:LE\E"%
FSESHA GAAR A &/ WAIAE ZAIE o] 7] &t
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Program Structured;
{$mode objfpc}{$H+}

uses
{$SIFDEF UNIX}{$IFDEF UseCThreads}
cthreads,
{$ENDIF }{$ENDIF}
Classes

procesure SayHello;
begin

Writeln(‘Hello there’);
end;

procedure SayGoodbye;
begin

Writeln(‘Good bye’);
end;

begin
Writeln(‘This is the main application started’);
SayHello;
Writeln(‘This is structured application’);
SayGoodbye;
Write(‘Press enter key to close’);
Readln;

end.

Zo 2 0WO A begin .. endS Ad ZEZAAQ} Wl ZE W FT oA
o) AL BEIE AL YT

2.3 <olxz}
O3 dAd e Z2AAE TS u] H4E ADdte AXE AT YTh

procedule WriteSumm(x, y:Integer);
begin

Wrilteln(‘The summation of ', x, * + 7,y , =", x + )
end;

begin
WriteSumm(2,7);
Write(‘Press enter key to close’);
Readln;

end.

W ol =g T Mo A WriteSumm ZEAAS TEPI 3 29 72 ZEA A A



&

CHAPTER 2. #+2& zZzZ7gd

o (g
U
o >
C, _>¢
ol
s
2y
il
é
:“.:
moi‘
mﬁ
k)
it
ot
2<)
9
i
18
ok
N
Ho
:oll_,l
8

AAANME ZZAAE AHESH] 54 22O S A AR YT



24, ZRAAE AL AH zz 7Y 01
24 ZIAAE AET Y =239
procedure Menu;
begin
Writeln(‘Welcome to Pascal Restaurant. Please select your order’);
Writeln(‘1 — Chicken (108)");
Writeln(‘2 — Fish (7%)));
Writeln(‘3 — Meat (8%)");
Writeln (‘4 — Salad (2%)");
Writeln(‘5 - Orange Juice (13)’);
Writeln(‘6 — Milk (1%)");
Writeln;
end;
procedure GetOrder(AName: string; Minutes: Integer);
begin
Writeln(‘You have ordered : ’; AName, ‘, this will take ’,
Minutes, ‘ minutes’);
end;
var
Meal: Byte;
begin
Menu;
Write(‘Please enter your selection: ’);
Readln(Meal);
case Meal of
1: GetOrder(‘Chicken’, 15);
2: GetOrder(‘Fish’, 12);
3: GetOrder(‘Meat’, 18);
: GetOrder(‘Salad’, 5);
5: GetOrder(‘Orange juice’, 2);
6: GetOrder(‘Milk’, 1);
else
Writeln(‘Wrong entry’);
end;
Write(‘Press enter key to close’);
Readln;
end.
oAl W Z2IUL B AelAT E H 2 Lol & A F AU e
o thB AR W8S FE B A £} 2L AN BelRS

gt
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2.5 3T
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function GetSumm(x, y: Integer): Integer;

begin

Result := x + y;
end;
var

Sum: Integer;
begin

Sum := GetSumm(2, 7);

Writeln(‘Summation of 2 + 7 =7, Sum);
Write(‘Press enter key to close’);

Readln;
end.
F4E A5 HoR AN, B4 95 Y 22 Ve 7] 98] Result 719 =5

H ol T2 WA T kS 7] Y&l SumPAFE AR P AW, o] =7+ A
= S}

TEF 4 JAT, Z2AAE hE B 22 AAY AREA T2F 5 JFUTh

22 QohT Wiiteln Z2AANA o] B4E 528 4+ AxUh o Ao B4}
22 A A0 Hol A Z SpAUTh ThE ZR A AL 4o A a2 9 olx}m

function GetSumm(x, y: Integer): Integer;
begin

Result := x + y;
end;

begin
Writeln(‘Summation of 2 + 7 =7, GetSumm(2, 7));
Write(‘Press enter key to close’);
Readln; end.

[k

U= A A= FrE AHES 54 22O E oA A AU



procedure Menu;

begin
Writeln(‘Welcome to Pascal Restaurant. Please select your order’);
Writeln(‘1 — Chicken (10%)");
Writeln (‘2 — Fish (7%)");
Writeln(‘3 — Meat (8%)");
Writeln(‘4 — Salad (2%)");
Writeln(‘5 - Orange Juice (1%)");
Writeln (‘6 — Milk (1%)));
Writeln(‘X - nothing’);
Writeln;

end;

function GetOrder(AName: string; Minutes, Price: Integer): Integer;
begin
Writeln(‘You have ordered : ’, AName, ¢, this will take 7,
Minutes, ‘ minutes’);
Result := Price;
end;

var
Selection: Char;
Price: Integer;
Total: Integer;
begin
Total := 0;
repeat
Menu,;
Write(‘Please enter your selection: ’);
Readln(Selection);

case Selection of
‘1’: GetOrder(‘Chicken’; 15, 10);
‘2’: GetOrder(‘Fish’, 12, 7);
‘3: GetOrder(‘Meat’, 18, 8);
(4
(4
((

: GetOrder(‘Salad’; 5, 2);
: GetOrder(‘Orange juice’, 2
: GetOrder(‘Milk’, 1, 1);
‘x’, ‘X’: Writeln(‘Thanks’);
else
begin
Writeln(‘Wrong entry’);
Price := 0;
end;
end;

Lo w
=
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Total := Total + Price;

until (Selection = ‘x’) or (Selection = ‘X’);
Writeln (‘Total price =, Total);
Write(‘Press enter key to close’);
Readln;

end.
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procedure Loop(Counter: Integer);
var

i: Integer;

Sum: Integer;
begin

Sum := 0;

for i := 1 to Counter do

Sum := Sum -+ i;

Writeln(‘Summation of ’, Counter, ¢ number is: ’, Sum);

end;

begin
Loop;
Write(‘Press enter key to close’);
Readln;

end.

Loop ZEAA0lE Sumzt i F Al@57k etk A des 22AA)
Qo] Bupy) A7HA QAR WSS BReE vwel] UdRel 29 W A
R o) 2w Aslo] Treo) o] 2o LU uf Ajuso] YT 4
Rovl, Ausg dois 4+ Yrks AL vt

Write(‘Press enter key to continue’);
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Program news;

{$mode objfpc}{$H+}

uses
{$IFDEF UNIX}{S$IFDEF UseCThreads}
cthreads,
{$ENDIF }{$SENDIF}
Classes, SysUtils

type
TNews = record
ATime: TDateTime;
Title: string[100];
end;
procedure AddTitle;
var
F: file of TNews;
News: TNews;
begin
AssignFile(F, ‘news.dat’);
Write(‘Input current news title: ’);
Readln(News.Title);
News.ATime:= Now;
if FileExists(‘news.dat’) then
begin
FileMode:= 2;
Reset(F);
Seek(F, System.FileSize(F));
end
else
Rewrite(F);
Write(F, News);
CloseFile(F);
end;

procedure Read AllNews;
var
F: file of TNews;
News: TNews;
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begin
AssignFile(F, ‘news.dat’);
if FileExists(‘news.dat’) then
begin
Reset(F);
while not Eof(F) do
begin
Read(F, News);
Writeln (¢ s
Writeln(‘Title: 7, News.Title);
Writeln(‘Time : ’, DateTimeToStr(News.ATime));
end;
CloseFile(F);
end
else
Writeln(‘Empty database’);
end;

procedure Search;
var
F: file of TNews;
News: TNews;
Keyword: string;
Found: Boolean;
begin
AssignFile(F, ‘news.dat’);
Write(‘Input keyword to search for: ’);
Readln(Keyword);
Found:= False;
if FileExists(‘news.dat’) then
begin
Reset(F);
while not Eof(F) do
begin
Read(F, News);
if Pos(LowerCase(Keyword), LowerCase(News.Title)) > 0 then
begin
Found:= True;
Writeln(‘ e
Writeln(‘Title: 7, News.Title);
Writeln(‘Time : ’, DateTimeToStr(News.ATime));
end;
end;
CloseFile(F);
if not Found then
Writeln(Keyword, ¢ Not found’);

end
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else
Writeln(‘Empty database’);
end;

function Menu: char;
begin
Writeln;

Writeln(“........... News database.......

Writeln(‘1. Add news title’);
Writeln (‘2. Display all news’);
Writeln (‘3. Search’);
Writeln(‘x. Exit’);

Write(‘Please input a selection : 7);

Readln(Result);
end;

var
Selection: Char;
begin
repeat
Selection:= Menu;
case Selection of
‘1’: AddTitle;
‘2’: ReadAllNews;
‘3’: Search;
end;

until LowerCase(Selection) = ‘x’;

end.
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function DoubleNumber(x: Integer): Integer;
begin

Result := x * 2;
end;

begin

Writeln(‘The double of 5 is : 7, DoubleNumber(5));

Readln;
end.

02 Writeln ZZ A A A DoubleNumber &F4+=5 TIPS
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function DoubleNumber(x: Integer): Integer;
begin

Result := x * 2;
end;

var
MyNum: Integer;

begin
MyNum:= DoubleNumber(5);
Writeln(‘The double of 5 is : 7, MyNum);

Readln;
end.
3 if 2ART £ BB 2ARNN F4E TET
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function DoubleNumber(x: Integer): Integer;
begin

Result := x * 2;
end;

var
MyNum: Integer;
begin
if DoubleNumber(5) > 10 then
Writeln(‘This number is larger than 10)
else
Writeln(‘This number is equal or less than 10’);
Readln;
end.
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procedure DoSomething(x: Integer);
begin

X:=x*2

Writeln(‘ F rom inside procedure: x = ’; x);
end;

var

MyNumber: Integer;
begin

MyNumber:= 5;

DoSomething(MyNumber);

Writeln(‘From main program, MyNumber = ’, MyNumber);
Writeln(‘Press enter key to close’);

Readln;
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procedure DoSomething(var x: Integer);
begin
X=X
Writeln(‘From inside procedure: x =’ x);
end;

*2;

var

MyNumber: Integer;
begin

MyNumber:= 5;

DoSomething(MyNumber);
Writeln(‘From main program, MyNumber = ’, MyNumber);
Writeln(‘Press enter key to close’);
Readln;
end.
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procedure SwapNumbers(var x, y: Integer);

var
Temp: Integer;
begin
Temp:= x;
X=Y;
y:= Temp;
end;
var
A, B: Integer;
begin

Write(‘Please input value for A: 7);
Readln(A);

Write(‘Please input value for B: ’);
Readln(B);

SwapNumbers(A, B);
Writeln(‘A = 7, A, ‘, and B = ', B);
Writeln(‘Press enter key to close’);
Readln;

end.
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unit Unitl;
{$mode objipc}{$H+}
interface

uses
Classes, SysUtils;

implementation

end.

A Unit2 T U, Test®F 22 A3 ol5< Agsto]l AT AYYrh
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unit Unitl;
{$mode objfpc}{$H+}
interface

uses
Classes, SysUtils;

const
GallonPrice = 6.5;

function GetKilometers(Payment, Consumption: Integer):Single;
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implementation

function GetKilometers(Payment, Consumption: Integer):Single;
begin

Result:= (Payment / GallonPrice) * Consumption;
end;

end.

GallonPrice 745} th8 Z2 1 ANA 32T GetKilometers T8 A5

k.
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program PetrolConsumption;

{$mode objfpc}{$H+}

uses
{$SIFDEF UNIX}{S$IFDEF UseCThreads}
cthreads,
{$ENDIF }{$ENDIF }
Classes, SysUtils
, Test;

var
Payment: Integer;
Consumption: Integer;
Kilos: Single;

begin
Write(How much did you pay for your car’s petrol: ’);
Readln(Payment);
Write(‘What is the consumption of your car (Kilos per one Gallon) ’);
Readln(Consumption);

Kilos:= GetKilometers(Payment , Consumption);

Writeln(‘This petrol will keep your car running for: 7,
Format(‘%0.1f’, [Kilos]), ‘ Kilometers’);
Write(‘Press enter’);
Readln;
end.
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HejriUtils: Hejri Calnder converter, for FreePascal and Delphi
Author: Motaz Abdel Azeem

email: motazQcode.sd

Home page: hitp://motaz.freevar.com

License: LGPL

Created on: 26.Sept.2009

Last modifie:  26.Sept.2009
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unit HejriUtils;

{$IFDEF FPC}
{$mode objfpc}{$H+}
{$ENDIF}

interface

uses
Classes, SysUtils;

const
HejriMonthsEn: array [1 .. 12] of string = (‘Moharram’, ‘Safar’, ‘Rabie Awal’,
‘Rabie Thani’, ‘Jumada Awal’, ‘Jumada Thani’, ‘Rajab’, ‘Shaban’,
‘Ramadan’, ‘Shawal’, ‘Thi-Algaida’, ‘Thi-Elhajah’);

HejriMonthsAr: array [1 .. 12] of string = ( ‘Jj C’U” gV ‘sz’,
‘\)L“'“ 57 LC)L,‘—’-‘:‘..”v L\-{",J77 Lf‘y‘ d)LP.’, cdjgy‘ d)Le’, .db'- C:f)7a

Und | ¥, a6, e )
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HejriYearDays = % l 367056;
HejriMonthDays = 29.530588;

procedure DateToHejri(ADateTime: TDateTime; var Year, Month,
Day: Word);
function HejriToDate(Year, Month, Day: Word): TDateTime;

procedure HejriDifference(Yearl, Monthl, Dayl, Year2, Month2,
Day2: Word; var YearD, MonthD, DayD: Word);
implementation

var
HejriStart : TDateTime;
procedure DateToHejri(ADateTime: TDateTime;
var Year, Month, Day: Word);
var
HejriY: Double;
Days: Double;
HejriMonth: Double;
RDay: Double;
begin
HejriY:= ((Trunc(ADateTime) - HejriStart - 1) / HejriYearDays);
Days:= Frac(HejriY);
Year:= Trunc(HejriY) + 1;
HejriMonth:= ((Days * HejriYearDays) / HejriMonthDays);

Month:= Trunc(HejriMonth) + 1;
RDay:= (Frac(HejriMonth) * HejriMonthDays) + 1;
Day:= Trunc(RDay);

end;

function HejriToDate(Year, Month, Day: Word): TDateTime;
begin
Result:= (Year - 1) * HejriYearDays + (HejriStart - 0) +
(Month - 1) * HejriMonthDays + Day + 1;
end;

procedure HejriDifference(Yearl, Monthl, Dayl, Year2, Month2,
Day2: Word; var YearD, MonthD, DayD: Word);
var
Days1: Double;
Days2: Double;
DDays: Double;
RYear, RMonth: Double;
begin
Daysl:= Yearl*HejriYearDays + (Monthl - 1)*HejriMonthDays + Dayl - 1;
Days2:= Year2*HejriYearDays + (Month2 - 1)*HejriMonthDays + Day?2 - 1;
DDays:= Abs(Days2 — Daysl);
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RYear:= DDays / HejriYearDays;
RMonth:= (Frac(RYear) * HejriYearDays) / HejriMonthDays;
DayD:= Round(Frac(RMonth) * HejriMonthDays);

YearD:= Trunc(RYear);
MonthD:= Trunc(RMonth);
end;
initialization

HejriStart:= EncodeDate(622, 7, 106);

end.

HejriUtils Unit-2 o} Z 2 A A2} Sq4Eo] J5YtTh

1. DateToHejri: ©] ZZA| A= T oF G5 F X2} ERZE vy F+=

&3tn, oAl = o534 Z5Urh
program Projectl;

{$mode objfpc}{$H+}

uses
{$SIFDEF UNIX}{$IFDEF UseCThreads}
cthreads,
{$ENDIF }{$ENDIF }
Classes , HejriUtils, SysUtils

var
Year, Month, Day: Word;
begin
DateToHejri(Now, Year, Month, Day);
Writeln(‘Today in Hejri: ’, Day, ‘-’, HejriMonthsEn|[Month],
-, Year);
Readln;
end.
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program sum;
{$mode objfpc}{$H+}

uses
{$SIFDEF UNIX}{$IFDEF UseCThreads}
cthreads,
{$ENDIF }{$SENDIF}
Classes

function Sum(x, y: Integer): Integer; overload;
begin

Result:= x + y;
end;

function Sum(x, y: Double): Double; overload;
begin

Result:= x + y;
end;

var
J, 1 Integer;
h, g: Double;
begin
ji=15;
f:= 20;
Writeln(j, * + 7,1, * = 7, Sum(j, i));
h:= 2.5;
gi= 7.12;
Writeln(h, ‘ == 73 ga Y= ’7 Sum(h7 g))a
Write(‘Press enter key to close’);
Readln;
end.
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program defaultparam,;
{$mode objfpc}{$H+}

uses
{$IFDEF UNIX}{$IFDEF UseCThreads}
cthreads,
{$ENDIF }{$ENDIF}
Classes

function SumAll(a, b: Integer; c¢: Integer = 0;
d: Integer = 0): Integer;

begin
result:= a + b + ¢ + d;

end;

begin
Writeln(SumAll(1,
Writeln(SumAll(1, ));
Writeln(SumAll(1, , 4));
Write(‘Press enter key to close’);
Readln;

end.
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program BubbleSortProj;
{$mode objfpc}{$H+}

uses
{$IFDEF UNIX}{S$IFDEF UseCThreads}
cthreads,
{$ENDIF }{$ENDIF }

Classes;

procedure BubbleSort(var X: array of Integer);
var
Temp: Integer;
i: Integer;
Changed: Boolean;
begin
repeat
Changed:= False;
for i:= 0 to High(X) - 1 do
if X[i] > X[i + 1] then
begin
Temp:= X[il;
X[i]:= X[i + 1];
X[i + 1]:= Temp;
Changed:= True;
end;
until not Changed;
end;

var
Numbers: array [0 .. 9] of Integer;
i: Integer;
begin
Writeln(‘Please input 10 random numbers’);
for i:= 0 to High(Numbers) do
begin
Write(‘#, 1+ 1, :);
Readln(Numbers|i]);
end;
BubbleSort(Numbers);
Writeln;
Writeln(‘Numbers after sort: );
for i:= 0 to High(Numbers) do
begin
Writeln(Numbers|i]);
end;



2.20. A A=A A EsH7) 115

Write(‘Press enter key to close’);
Readln;
end.
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program smSort;
{$mode objfpc}{$H+}

uses
{$IFDEF UNIX}{$IFDEF UseCThreads}
cthreads,
{$ENDIF}{$ENDIF}
Classes

type
TStudent = record
StudentName: string;
Mark: Byte;
end;

procedure BubbleSort(var X: array of TStudent);
var

Temp: T'Student;

i: Integer;

Changed: Boolean;

begin
repeat
Changed:= False;
for i:= 0 to High(X) - | do
if X[i].Mark < X][i + 1].Mark then
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begin
Temp:= X[i;
Xli]:= X[i + 1];

X[i + 1]:= Temps;
Changed:= True;
end;
until not Changed;
end;
var
Students: array [0 .. 9] of TStudent;
i: Integer;

begin
Writeln(‘Please input 10 student names and marks’);
for i:= 0 to High(Students) do
begin
Write(‘Student #’, 1 + 1, ‘ name : ’);
Readln(Students]i].StudentName);

Write(‘Student #’, 1 + 1, ¢ mark : ’);
Readln(Students|i].Mark);

Writeln;
end;
BubbleSort(Students);
Writeln;
Writeln(‘Marks after Bubble sort: °);
Writeln(‘————);
for i:= 0 to High(Students) do
begin
Writeln(‘# ’, i + 1, ¢ ’, Students[i].StudentName,
¢ with mark (°, Students|i].Mark, ‘)’);
end;
Write(‘Press enter key to close’);
Readln;
end.
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program SelectionSort;
{$mode objfpc}{$H+}

uses
{$SIFDEF UNIX}{$IFDEF UseCThreads}
cthreads,
{$ENDIF}{$ENDIF}
Classes

procedure SelectSort(var X: array of Integer);
var

i: Integer;

j: Integer;

SmallPos: Integer;

Smallest: Integer;

begin
for i:= 0 to High(X) - 1 do
begin
SmallPos:= i;
Smallest:= X[SmallPos];
for j:=1i+ | to High(X) do
if X[j] < Smallest then
begin
SmallPos:= j;
Smallest:= X[SmallPos];
end;
X[SmallPos]:= X[i;
X[i]:= Smallest;
end;
end;
var
Numbers: array [0 .. 9] of Integer;

i: Integer;

begin
Writeln(‘Please input 10 random numbers’);

117
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for i:= 0 to High(Numbers) do
begin
Write(‘#, 1 + 1, ¢ 7);
Readln(Numbersl[i);
end;
SelectSort(Numbers);
Writeln;
Writeln(‘Numbers after Selection sort: );
for i:= 0 to High(Numbers) do
begin
Writeln(Numbersl|i] );
end;
Write(‘Press enter key to close’);
Readln;
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program ShellSort;
{$mode objfpc}{$H+}

uses
{$SIFDEF UNIX}{$IFDEF UseCThreads}
cthreads,

{$ENDIF }{$ENDIF}
Classes;

procedure ShellS(var X: array of Integer);
var

Done: Boolean;
Jump, j, i: Integer;
Temp: Integer;

begin
Jump:= High(X);
while (Jump > 0) do

begin
Jump:= Jump div 2;
repeat
Done:= True;
for j:= 0 to High(X) - Jump do
begin
ir=j + Jump;
if X[j] > X][i|] then
begin
Temp:= X][i];
X[i]:= X[j];
X[j|:= Temps
Done:= False;
end;
end;
until Done;
end;
end;
var
Numbers: array [0 .. 9] of Integer;
i: Integer;
begin

Writeln(‘Please input 10 random numbers’);
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end.

for i:= 0 to High(Numbers) do
begin
Write(‘#, 1 + 1, ¢ 7);
Readln(Numbersl[i);
end;

ShellS(Numbers);
Writeln;
Writeln(‘Numbers after Shell sort: ’);

for i:= 0 to High(Numbers) do
begin

Writeln(Numbers|i]);
end;
Write(‘Press enter key to close’);
Readln;
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program smSort;
{$mode objfpc}{$H+}

uses
{$IFDEF UNIX}{S$IFDEF UseCThreads}
cthreads,
{$ENDIF }{$ENDIF}
Classes;

type
TStudent = record
StudentName: string;
Mark: Byte;
end;

procedure BubbleSort(var X: array of TStudent);
var
Temp: T'Student;
i: Integer;
Changed: Boolean;
begin
repeat
Changed:= False;
for i:= 0 to High(X) - 1 do
if X[i].StudentName > X[i + 1].StudentName then

begin
Temp:= X[i];
X[i]:= X[i + 1];

X[i + 1]:= Temp;
Changed:= True;
end;
until not Changed;
end;
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var
Students: array [0 .. 9] of TStudent;
i: Integer;
begin
Writeln(‘Please input 10 student names and marks’);
for i:= 0 to High(Students) do
begin
Write(‘Student #’, 1 + 1, ¢ name : ’);
Readln(Students|i].StudentName);
Write(‘Student #’, 1 + 1, ‘ mark : 7);
Readln(Students[i].Mark);

Writeln;
end;
BubbleSort(Students);
Writeln;
Writeln(‘Marks after Bubble sort: ’);
Writeln(‘——————-);

for i:= 0 to High(Students) do
begin
Writeln(‘# ’, i + 1, ¢ 7, Students[i].StudentName,
¢ with mark (°, Students[i].Mark, ‘));
end;
Write(‘Press enter key to close’);
Readln;
end.
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program SortComparison;

{$mode objfpc}{$H+}

uses

{$SIFDEF UNIX}{S$IFDEF UseCThreads}
cthreads,

{$ENDIF }{$ENDIF }

Classes, SysUtils;

procedure BubbleSort(var X: array of Integer);
var
Temp: Integer;
i: Integer;
Changed: Boolean;
begin
repeat
Changed:= False;
for i:= 0 to High(X) - | do
if X[i] > X[i + 1] then
begin
Temp:= X[i];
X[i]:= X[i + 1];
X[i + 1]:= Temp;
Changed:= True;
end;
until not Changed;
end;

procedure SelectionSort(var X: array of Integer);
var
i: Integer;
j: Integer;
SmallPos: Integer;
Smallest: Integer;
begin
for i:= 0 to High(X) - | do
begin
SmallPos:= i;
Smallest:= X[SmallPos];
for j:=1i + 1 to High(X) do
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if X[j] < Smallest then

begin
SmallPos:= j;
Smallest:= X[SmallPos];
end;

X[SmallPos|:= XI|i];
X[i]:= Smallest;
end;
end;

procedure ShellSort(var X: array of Integer);
var

Done: Boolean;

Jump, j, i: Integer;

Temp: Integer;
begin

Jump:= High(X);

while (Jump > 0) do

begin
Jump:= Jump div 2;
repeat
Done:= True;
for j:= 0 to High(X) - Jump do
begin
ir=j + Jump;
if X[j] > X[i] then
begin
Temp:= X[i];
Xil:= X[il
X[jl:= Temp;
Done:= False;
end;
end;
until Done;
end;
end;

procedure RandomizeData(var X: array of Integer);
var

i: Integer;
begin

Randomize;

for i:= 0 to High(X) do

X[i]:= Random(10000000);

end;
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var
Numbers: array [0 .. 59999] of Integer;
i: Integer;
StartTime: TDateTime;
begin
Writeln(‘——— Full random data’);

RandomizeData(Numbers);

StartTime:= Now;

Writeln(‘Sorting.. Bubble’);

BubbleSort(Numbers);

Writeln(‘Bubble sort tooks (mm:ss): ’,
FormatDateTime(‘nn:ss’, Now - StartTime));

Writeln;

RandomizeData(Numbers);

Writeln(‘Sorting.. Selection’);

StartTime:= Now;

SelectionSort(Numbers);

Writeln (‘Selection sort tooks (mm:ss): 7,
FormatDateTime(‘nn:ss’, Now - StartTime));

Writeln;

RandomizeData(Numbers);

Writeln(‘Sorting.. Shell’);

StartTime:= Now;

ShellSort(Numbers);

Writeln(‘Shell sort tooks (mm:ss): ’,
FormatDateTime(‘nn:ss’, Now - StartTime));

Writeln;

Writeln (¢ Nearly sorted data’);

Numbers|0]:= Random(10000);

Numbers[High(Numbers)|:= Random(10000);

StartTime:= Now;

Writeln(‘Sorting.. Bubble’);

BubbleSort(Numbers);

Writeln(‘Bubble sort tooks (mm:ss): ’,
FormatDateTime(‘nn:ss’, Now - StartTime));

Writeln;

Numbers[0]:= Random(10000);

Numbers[High(Numbers)]:= Random(10000);

Writeln(‘Sorting.. Selection’);

StartTime:= Now;

SelectionSort(Numbers);

Writeln(‘Selection sort tooks (mm:ss): 7,
FormatDateTime(‘nn:ss’, Now - StartTime));

Writeln;
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Numbers|0]:= Random(10000);

Numbers[High(Numbers)|:= Random(10000);

Writeln(‘Sorting.. Shell’);

StartTime:= Now;

ShellSort(Numbers);

Writeln(‘Shell sort tooks (mm:ss): ’,
FormatDateTime(‘nn:ss’, Now — Start,Time));

Write(‘Press enter key to close’);
Readln;
end.
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[ Form1 HHEE
P
co..oo....m Buttonl w0000l lllll ol
.......... n - Moo

[0 === Objed Inspector ==
¥ | Form1: TForm1
[=] Button1: TButton
Properties m
Action
Align alMone
p= | Anchors [akTop.akLeft]
AutoSize False
BidiMode bdlLefiToRight
p |BorderSpacing | (TControlBorderSy
Cancel False
% | Caption Button1
Calar []clDefault
= | Constraints (TSizeConstraints)
Cursar crDefault
Default False

, & 5)e BN F dsyth



3.2. ¢ AWA GUI =221 131

MES] £48 £457] Aol Fo| ohe} WES AMYA Sshok Gyt
7=} ol AMA ol & Properties, FHA ol & Events W] 9 AL AARES
Futh 2] Je 2 Aol oA g Bl YTk
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1 t}2, Events #H 0] A S Z A7) Y30 Object Inspector®] Events B2 A =3}
2, W ¢l Unitol] ZE FAlS whE OnClick o|HEE F ¥ FSUth

procedure TForml.ButtonlClick(Sender: TObject);

begin
end;

o)Al A7t $lo]A WEO]E OnClick o= T P40 g 2L 2
At
procedure TForm1.ButtonlClick(Sender: TObject);
begin

ShowMessage(‘Hello world, this is my first GUI application’);

end;

ojFA i mrIWS AP, v HEE =R Wl 7Ithstd HAA
7 Eolslt Hlshge EAT AU

Dol M firstgui s A S 2o el 2E Ao, Ak
F25 AT firstguiere s 22 HEE A S AdUTh o5 ©E
AFEZ HAT 5 UL, FA E7E DR o442 AT 5 e FAE
SISIES

okol o Ao A o7k 23 ASo] Y&t

1 WA =233 5bd: A A A A &= firstgui.lpi 3+ L Z A3 5 U th Project/Source
Eueaz 24 B 5 JSUTh o] A2 I=E BA P AYYth

program firstgui;
{$mode objfpc}{$H+}

uses
{$SIFDEF UNIX}{$IFDEF UseCThreads}
cthreads,
{$ENDIF }{$ENDIF}
Interfaces,
Forms
, main;
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begin
Application.Initialize;
Application.CreateForm(TForm1, Form1);
Application.Run;

end.
S 5Exog dio] AFeof o] I=5 AT D27t YAA Y, hEE
Beole AT L7 AFp o2 AR E S o U E W HE & dFUTh
Main Unit: 22135 AP wf 2502 vepd £} ol 8ol Soi3le

Unitg Y}

ol#l = OnClick o] E ] thal] &4 3 T =2 main UnitYg Y Th
unit main;
{$mode objfpc}{$H+}
interface

uses
Classes, SysUtils, FileUtil, LResources, Forms, Controls,

Graphics, Dialogs, StdCtrls;
type

TForml = class(TForm)

Buttonl: TButton;

procedure ButtonlClick(Sender: TObject);
private

public

end;
var

Form1: TForml;
implementation

procedure TForml.ButtonlClick(Sender: TObject);
begin

ShowMessage(‘Hello world, this is my first GUI application’);
end;
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initialization
{$1 main.Irs}
end.
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procedure TForm1.ButtonlClick(Sender: TObject);
begin
ShowMessage(‘Hello world, this is my first GUI application’);
end;
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3.3 FHA GUI =231

o Ao AL ALg Al A B BAR 0B YASA B, WES F2H Ao
Lol QA WAAE BAFES T AUTh

o Zr A A7) A8l T WEUT

—

ZZ2 3L WED inputformOZ AU} 9w Ql Unit2 main.pasZ A
Bon, BE TARL WOBRE of FHRAE FobEUh

2749 o] &
B4 4
HE

oA A FARAEY £4¢ B 2ol wiTh
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procedure TfmMain.Buttonl1Click(Sender: TObject);
begin

laYourName.Caption:= ‘Hello * + edName.Text;
end;

o A AN, AR FH T W8-S 7] sl AR AL edNameoll Y= Teaxt
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btAdd, btClear, btDelete, btClose

Cole) AR WES o]2L me AL wFHY T

| E|AE BA HSEA01H HHE O

- HE2] OnClick oM E ts] o]& o|WIE AE8E AT

procedure TForm1.btAddClick(Sender: TObject);
begin

ListBox1.Items.Add(Edit1.Text);
end;

procedure TForm1.btClearClick(Sender: TObject);
begin

ListBox1.Clear;
end;
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procedure TForm1.btDeleteClick(Sender: TObject);
var
Index: Integer;
begin
Index:= ListBox1.ItemIndex;
if Index <> -1 then
ListBox1.Items.Delete(Index);
end;

procedure TForm1.btCloseClick(Sender: TObject);
begin

Close;
end;

FMES W BY Ae] g2 BEo) 498 AUtk 44 WES
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3. FAHLA Y EQ Y3AA} 7 o] R of] 9+ TOpenDialog?} TSaveDialog
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3
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File, Close 3t9] W& @52 F7FUth
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Mainhdznul DpenDialogl

SaveDialogl

e Open File &5-2] OnClick o] E | O3] o] I=E FAJ T}

if OpenDialogl.Execute then
Memol.Lines.LoadFromFile(OpenDialogl.FileName);

e Save File &0 3] o] Z=E ZAT )

if SaveDialogl.Execute then
Memol.Lines.SaveToFile(SaveDialogl.FileName);

o Close &= 3l o] T=5 ZA g}

Close;
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o Add Title W E2] OnClick oM E) thaf o] Z=E ZA 3t

Memol.Lines.Insert (0,
FormatDateTime(‘yyyy-mm-dd hhinn’, Now) + “:” + Edit1.Text);

o Save WEol el o] Z=F FAJ I}

Memol.Lines.SaveToFile(‘news.txt’);
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Memol.Lines.SaveToFile(‘news.txt’);
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if FileExists(‘news.txt’) then
Memol.Lines.LoadFromFile(‘news.txt’);
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unit DateTimeUnit;
{$mode objfpc}{$H+}

interface
uses
Classes, SysUtils;

type

TMyDateTime = class
private
fDateTime: TDateTime;
public
function GetDateTime: TDateTime;

procedure SetDateTime(ADateTime: TDateTime)

procedure AddDays(Days: Integer);
procedure AddHours(Hours: Single);
function GetDateTimeAsString: string;
function GetTimeAsString: string;
function GetDateAsString: string;

constructor Create(ADateTime: TDateTime);

destructor Destroy; override;
end;

implementation

function TMyDateTime.GetDateTime: TDateTime;
begin

Result:= fDateTime;
end;

procedure TMyDateTime.SetDateTime(ADateTime: TDateTime);

begin
fDateTime:= ADateTime;
end;

procedure TMyDateTime.AddDays(Days: Integer);
begin

fDateTime:= fDateTime + Days;
end;
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procedure TMyDateTime.AddHours(Hours: Single);
begin
fDateTime:= fDateTime + Hours / 24; end;

function TMyDateTime.GetDateTimeAsString: string;
begin
Result:= DateTimeToStr(fDateTime); end;

function TMyDateTime.GetTimeAsString: string;
begin
Result:= TimeToStr(fDateTime); end;

function TMyDateTime.GetDateAsString: string;
begin
Result:= DateToStr(fDateTime); end;

constructor TMyDateTime.Create(ADateTime: TDateTime);
begin

fDateTime:= ADateTime;
end;

destructor TMyDateTime.Destroy;
begin
inherited Destroy;
end;
end.

ok 2ol vl Boll ohAl S WES vtk
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unit main;
{$mode objfpc}{$H+}
interface

uses
Classes, SysUtils, FileUtil, LResources, Forms, Controls,
Graphics, Dialogs, StdCtrls, DateTimeUnit;

type

TForml = class(TForm)
Buttonl: TButton;
Button2: TButton;
Buttond: TButton;
Button4: TButton;
Buttonb: TButton;
procedure ButtonlClick(Sender: TObject);
procedure Button2Click(Sender: TObject);
procedure Button3Click(Sender: TObject);
procedure Button4Click(Sender: TObject);
procedure Button5Click(Sender: TObject)
procedure FormCreate(Sender: TObject);

private

)

)

public
MyDT: TMyDateTime;

end;
var
Form1: TForm1;

implementation

procedure TForml.FormCreate(Sender: TObject);
begin

MyDT:= TMyDateTime.Create(Now);
end;

procedure TForml.ButtonlClick(Sender: TObject);
begin

ShowMessage(MyDT.GetDateTimeAsString);
end;
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procedure TForm1.Button2Click(Sender: TObject);
begin

ShowMessage(MyDT.GetDateAsString);
end;

procedure TForm1.Button3Click(Sender: TObject);
begin

ShowMessage(MyDT.Get TimeAsString);
end;

procedure TForm1.Button4Click(Sender: TObject);
begin

MyDT.AddHours(1);
end;
procedure TForm1.Button5Click(Sender: TObject);
begin

MyDT.AddDays(1);
end;

initialization
{$I main.lrs}

end.
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2. Unit ¢toll MyDT AAS AAFHFY T
MyDT: TmyDateTime;
3. #H 2 Z9] OnCreate o|HIE AAE W51 27|35} PS5
MyDT:= TmyDateTime.Create(Now);

o]

e HAE AT AojolA] AAE BEL WA= U Th

rr



150 CHAPTER 4. ARG ZzZ2 7)1
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unit news;
{$mode objfpc}{$H+}
interface

uses
Classes, SysUtils;

type
TNewsRec = record
ATime: TDateTime;
Title: string[100];
end;

TNews = class
private
F: file of TNewsRec;
fFileName: string;
public
constructor Create(FileName: string);
destructor Destroy; override;
procedure Add(ATitle: string);
procedure ReadAll(var NewsList: TStringList);
function Find(Keyword: string;
var ResultList: TStringList): Boolean;
end;

implementation

constructor TNews.Create(FileName: string);
begin

fFileName:= FileName;
end;
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ructor TNews.Destroy;
n
inherited Destroy;

procedure TNews.Add(ATitle: string);

var

end;

Rec: TnewsRec; begin
AssignFile(F, fFileName);
if FileExists(fFileName) then

begin
FileMode:= 2;
Reset(F);
Seek(F, FileSize(F));
end
else

Rewrite(F);

Rec.ATime:= Now;
Rec.Title:= ATitle;
Write(F, Rec);
CloseFile(F);

procedure TNews.ReadAll(var NewsList: TStringList);

var

begi

end;

Rec: TnewsRec;
n
NewsList.Clear;
AssignFile(F, fFileName);
if FileExists(fFileName) then
begin
Reset(F);
while not Eof(F) do
begin
Read(F, Rec);

NewsList.Add(DateTimeToStr(Rec.ATime) + ¢ : * + Rec.Title);

end;
CloseFile(F);
end;
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function TNews.Find(Keyword: string; var ResultList: TStringList): Boolean;
var
Rec: TnewsRec;
begin
ResultList.Clear;
Result:= False;
AssignFile(F, fFileName);
if FileExists(fFileName) then
begin
Reset(F);
while not Eof(F) do
begin
Read(F, Rec);
if Pos(LowerCase(Keyword), LowerCase(Rec.Title)) > 0 then
begin
ResultList.Add(DateTimeToStr(Rec.ATime) + ‘ : * + Rec.Title);
Result:= True;
end;
end;
CloseFile(F);
end;
end;
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W9l Unitell &= o] F=8 44 MEIeh
unit main;
{$mode objfpc} {SH+}
interface

uses
Classes, SysUtils, FileUtil, LResources, Forms, Controls, Graphics,
Dialogs, News, StdCtrls;

type

TForml = class(TForm)
btAdd: TButton;
btShowAll: TButton;
btSearch: TButton;
cbType: TComboBox;
edTitle: TEdit;
Labell: TLabel;
Label2: TLabel;
Memol: TMemo;
procedure btAddClick(Sender: TObject);
procedure btSearchClick(Sender: TObject);
procedure btShowAllClick(Sender: TObject);
procedure FormCreate(Sender: TObject);
private

public
NewsObj: array of TNews;

end;

var
Form1: TForml;

implementation

procedure TForml.FormCreate(Sender: TObject);
var

i: Integer;
begin
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SetLength(NewsObj, cbType.Items.Count);
for i:= 0 to High(NewsObj) do
NewsObj[i]:= TNews.Create(cbType.Items[i] + ‘.news’);
end;

procedure TForm1.btAddClick(Sender: TObject);
begin

NewsObj[cbType.ItemIndex].Add(ed Title. Text);
end;

procedure TForml.btSearchClick(Sender: TObject);
var
SearchStr: string;
ResultList: TstringList;
begin
ResultList:= TStringList.Create;
if InputQuery(‘Search News’, ‘Please input keyword’; SearchStr) then
if NewsObj[cbType.ItemIndex|.Find(SearchStr, ResultList) then
begin
Memol.Lines.Clear;
Memol.Lines.Add(cbType.Text + ¢ News’);
Memol.Lines.Add(* );
Memol.Lines. Add(ResultList. Text);
end
else
Memol.Lines.Text:= SearchStr + ‘ not found in > +
cbType.Text + ¢ news’;
ResultList.Free;
end;

procedure TForm1.btShowAllClick(Sender: TObject);

var
List: T'StringList;

begin
List:= TStringList.Create;
NewsObj[cbType.ItemIndex].Read All(List);
Memol.Lines.Clear;
Memol.Lines.Add(cbType.Text + * News’);
Memol.Lines.Add(* );
Memol.Lines.Add(List. Text);
List.Free;

end;

procedure TForm1.FormClose(Sender: TObject;
var CloseAction: TCloseAction);

var
i: Integer;
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begin
for i:= 0 to High(NewsObj) do
NewsObjl[i].Free;
NewsObj:= nil;

end;

initialization
{$I main.Irs}

end.
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NewsObj: array of TNews;
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NewsObj: array [0 .. 9] of TNews;
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for i:= 0 to High(NewsObj) do
NewsObj[i].Free;

NewsObj:= nil;
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unit queue;

{$mode objfpc}{$H+}

interface
uses
Classes, SysUtils;

type

TQueue = class

private
fArray: array of string;
fTop: Integer;

public
constructor Create;
destructor Destroy; override;
function Put(AValue: string): Integer;
function Get(var AValue: string): Boolean;
function Count: Integer;
function ReOrganize: Boolean;

end;

implementation

constructor Tqueue.create;
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destructor TQueue.destroy;
begin
SetLength(fArray, 0);
inherited destroy;
end;

function TQueue.Put(AValue: string): Integer; begin
if fTop >= 100 then
ReOrganize;

SetLength(fArray, Length(fArray) + 1);
fArray[High(fArray)]:= AValue;
Result:= High(fArray) - {Top;

end;

function TQueue.Get(var AValue: string): Boolean;

begin
AValue:= “;
if fTop <= High(fArray) then
begin
AValue:= fArray|[fTop|;
Inc(fTop);
Result:= True;
end
else
begin
Result:= False;
SetLength(fArray, 0);
fTop:= 0;
end;
end;

function TQueue.Count: Integer;
begin

Result:= Length(fArray) - fTop;
end;

function TQueue.ReOrganize: Boolean;
var

i: Integer;

PCount: Integer;
begin

if fTop > 0 then

begin
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PCount:= Count;
for i:= fTop to High(fArray) do
fArray[i - fTop|:= fArrayl[i];

setLength(fArray, PCount);
fTop:= 0;
Result:= True;

end

else
Result:= False;

end;

end;

end.
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unit main;

{$mode objfpc}{$H+}
interface

uses

Classes, SysUtils, FileUtil, LResources, Forms, Controls, Graphics,
Dialogs, Queue, StdCtrls;
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type

TfmMain = class(TForm)
bbAdd: TButton;
bbCount: TButton;
bbGet: TButton;
edCustomer: TEdit;
Labell: TLabel;
Memol: TMemo;
procedure bbAddClick(Sender: TObject);
procedure bbCountClick(Sender: TObject);
procedure bbGetClick(Sender: TObject);
procedure FormClose(Sender: TObject;
var CloseAction: TCloseAction);
procedure FormCreate(Sender: TObject);
private

public
MyQueue: TQueue;

end;

var
fmMain: TfmMain;

implementation

procedure TfmMain.FormCreate(Sender: TObject);
begin

MyQueue:= TQueue.Create;
end;

procedure TfmMain.FormClose(Sender: TObject; var CloseAction: TCloseAc-
tion);
begin
MyQueue.Free;
end;

procedure TfmMain.bbCountClick(Sender: TObject);
begin

Memol.Lines.Add(‘Queue length is: * + IntToStr(MyQueue.Count));
end;
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procedure TfmMain.bbAddClick(Sender: TObject);

var
APosition: Integer;

begin
APosition:= MyQueue.Put(edCustomer. Text);
Memol.Lines.Add(edCustomer.Text + ¢ has been added as # * +

IntToStr(APosition + 1));
end;

procedure TfmMain.bbGetClick(Sender: TObject);
var
ACustomer: string;
begin
if MyQueue.Get(ACustomer) then
begin
Memol.Lines.Add(‘Got: > + ACustomer + * from the queue’);
end
else

Memol.Lines.Add(‘Queue is empty’);
end;

initialization
{$1 main.Irs}

end.
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setLength(fArray, PCount);
fTop:= 0;
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procedure TfmMain.ButtonlClick(Sender: TObject);
var
SourceF, DestF: TFileStream;
Buf: array [0 .. 1023] of Byte;
NumRead: Integer;
begin
if OpenDialogl.Execute and SaveDialogl.Execute then
begin
SourceF:= TFileStream.Create(OpenDialogl.FileName, fmOpenRead);
DestF:= TFileStream.Create(SaveDialogl.FileName, fmCreate);
while SourceF.Position < SourceF.Size do
begin
NumRead:= SourceF.Read(Buf, SizeOf(Buf));
DestF.Write(Buf, NumRead);
end;
SourceF .Free;
DestF.Free;
ShowMessage(‘Copy finished’);
end;
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procedure TfmMain.ButtonlClick(Sender: TObject);

var
SourceF, DestF: TFileStream;
begin
if OpenDialogl.Execute and SaveDialogl.Execute then
begin
SourceF:= TFileStream.Create(OpenDialogl.FileName, fmOpenRead);
DestF:= TFileStream.Create(SaveDialogl.FileName, fmCreate);
DestF.CopyFrom(SourceF, SourceF.Size);
SourceF .Free;
DestF .Free;
ShowMessage(‘Copy finished’);
end;
end;
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TIntQueue = class(TQueue)
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unit IntQueue;

{$mode objfpc}{$H+}
interface

uses
Classes, SysUtils, Queue;

type

TIntQueue = class(TQueue)

public
function PutInt(AValue: Integer): Integer;
function GetInt(var AValue: Integer): Boolean;
end;

implementation

function TIntQueue.PutInt(AValue: Integer): Integer;
begin

Result:= Put(IntToStr(AValue));
end;

function TIntQueue.Getlnt(var AValue: Integer): Boolean;
var
StrValue: string;
begin
Result:= Get(StrValue);
if Result then
AValue:= StrTolnt(StrValue);

end;
end.
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unit main;
{$mode objfpc}{$H+}
interface

uses
Classes, SysUtils, FileUtil, LResources, Forms, Controls,
Graphics, Dialogs, IntQueue, StdCtrls;

type

TfmMain = class(TForm)
bbAdd: TButton;
bbCount: TButton;
bbGet: TButton;
edCustomerID: TEdit;
Labell: TLabel;
Memol: TMemo;
procedure bbAddClick(Sender: TObject);
procedure bbCountClick(Sender: TObject);
procedure bbGetClick(Sender: TObject);



procedure FormClose(Sender: TObject;
var CloseAction: T'CloseAction);
procedure FormCreate(Sender: TObject);
private

public
MyQueue: TIntQueue;

end;

var
fmMain: TfmMain;

implementation

procedure TfmMain.FormCreate(Sender: TObject);
begin

MyQueue:= TIntQueue.Create;
end;

procedure TfmMain.FormClose(Sender: TObject;
var CloseAction: TCloseAction);

begin
MyQueue.Free;

end;

procedure TfmMain.bbCountClick(Sender: TObject);
begin

Memol.Lines.Add(‘Queue length is: * 4+ IntToStr(MyQueue.Count));
end;

procedure TfmMain.bbAddClick(Sender: TObject);

var
APosition: Integer;

begin
APosition:= MyQueue.PutInt(StrTolnt(edCustomerID.Text));
Memol.Lines. Add(edCustomerID.Text + ‘ has been added as # ’

+ IntToStr(APosition + 1));
end;

procedure TfmMain.bbGetClick(Sender: TObject);
var
ACustomerID: Integer;
begin
if MyQueue.GetInt(ACustomerID) then
begin

167



168 CHAPTER 4. AA A& =2 229

Memol.Lines.Add(‘Got: Customer ID : ’ + IntToStr(ACustomerID) +
¢ from the queue’);
end
else
Memol.Lines.Add(‘Queue is empty’);
end;

initialization
{$I main.lrs}

end.
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